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T
o 1 b —{Vhléh of the followmg Statements \mth ; -Iﬁ "{':E? ‘t%"ﬁ'z";i auﬁnﬁrﬁgaﬂ | ﬁ“qﬂ,—-ﬁ_m /g q;rqq
reference to ‘blood’ is/are correct ? i @ R/E 7
composed of pla i T
4 glli?fzi:ft t}’Pe]: of Cellsp Smaand | 1. T @A 3R fafe w1 i 3
) ’ IR |
n. The presence of haemoglobm makes |
blood appear red. : 2. direnifea 6 ufefa @ =) enfommga
Select the correct answer from the code ! A 2 |
given below : 3 : R fGw M Fe A @@ IW gha
i i
Code : . ) | T4
(a) Neither 1 nor 2 (b) Only 1 | (@) Fd 198 2 (b) e 1
(c) Only 2 (d) Both 1 and 2 } (c) Fae 2 (d) 1 3fkx 2 2t
{
2. Match List - I with List II and select the | 2 T - 1 g
: - - 11 % gafe Hifse @on gt &
correct answer using the code ven b I
fiste.  given elowthe: :ﬁ%ﬁqﬂ‘{'{ﬁﬁaﬁmgﬁqp
List-1 ' . ListL ¢ Tl -1 g -1
. . (Writer) /""" (Book) ! (ﬁm) (Tr21)
Eﬁ_@ A 'g?l\ntl:ram 1. Glta Govmda A. Brfaem wg 1. " miferg
V- - a a .
S B. Somdev 2. Brihatkathamanjari 2‘ J 2
C. Jaidev 3. Nal Champu ' 3. 7 =
D. Kshemendra 4. Katha Sarit Sagar D. &g 4. T Wi AR
Code : . ®e:
A B ¢ D [ A B C D
@4 3 2 1 bur @4 3 2 1
M3 4 2 1 S b3 4 2 1
3 4 1 2 €3 4 1 2
d4 3 1 2 Lri @4 3 1 2
3. With reference to Jnanpith-Award, which of 3. FATS QR & HeW A Fefafad & & E] SE
tile ;cﬂlo‘sr«;i;glg ;tatcn?.;_xllf is/ ;.re correct ? FH-G/AFHATE /T 7 "{:'
& e nanpi ward was i wadls : firr
conferred upon Sanskrit Scholar 1. 584 JTEHR T SR
Jagadguru Rambhadracharya Ji. a5 weE e mE |
2. The 15" Jnanpith Awa:d was given in 2. Ygen FHdie TR 1965 & fam mm o |
1965. '
Select the correct answer ﬁ'om the code H= ﬁq Y << a e I ‘g’F—m :
ngn below : I:..‘,._.J we:
Code : ht
() Neither 1 nor 2 (b) Gniy 1 ‘ @FA1TR2 (o) Faw1
(c) Only 2 (d) Both 1 and 2 (c) haet 2 (d) 13K 2 gH
4. Arrange the following electromagnetlc 4. TrfaRen frmaahia fafwo wF s7f
radiations in decreasing order of their rgfal & wed wa § safem Hifv |
frequencies. 1. T fe
. G a rays
1. Gamma ray o et R

i
i
!
I
!
2. Ultraviolet rays ) | ¢
3. Radio waves ¢ : 3. A o
|
|
i
i
|
|
|
!

'v" 4. X-rays ) 4, X-forwat
x5 Select the correct answer; from the code .
f'.égwenbelow - Tﬁ%ﬁquﬂuﬁmgilz.
C-Ode H i ‘Ii 1 ?e C:
(a) 4,1,2,3 (b) 471, ,2 (@) 4,1,2,3 (b) 4,1,3,2
(c) 1,4,3,2 (d) 1, 4, y 3 (¢) 1,4,3,2 (d) 1,4,2,3
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of the following ministry

1. Ministry of AYUStII-[y m! xune 20257

2. Ministry of Wom [ I
Development = ang{;._cahlld
Empowerment ustice and

e o T eToal AfTairh

Select the correct an e

given below : swer from the code

Code :

(a) Only 4

b) O
(c) Only 1 and 2 ) et

(d) Only 2 and 3
Which of the followin e
owing Department

prepares the National Indfcﬁior
Framt:WOI'k Progress Report-related to
Sustainable Development'Goals in
Uttar Pradesh ? {AD

1. Department of Financé. t

2. Department of Education

3. Department of Planning
Select the correct answer from the code
given below :

Code :
(a) Only 3 (b) Omnly 1
(c) 1and?2 (d) 1and 3

With reference to Baking gfjjda’, which of
the following statements is/are correct ?
1. It is Sodium hydrogenf{carbonate.
2. It is used in fire extiné.ﬁ%hers.
Select the correct answer from the code
given below :
Code :
(a) Neither 1 nor 2 (b) Only 1
(c) Only 2 (d) Bo}i}l 1 and 2

Given below are two statements, one is

-

labelled as Assertion (A) and the other as

i

Reason (R). By

=5 Assertion (A) : Consum:é}jé can bargain
“M helow Maximum Retail Price (MRP).

IEI;EI
x

T ——
ek i e il e A S s e i Tk | e skt W et Sk

Reason (R) : MRP is a price a seller must

charge from the buyer.

Select the correct answer from the code

given below :

Code : g

(a) (A)is false, but (R) is tifie

(b) Both (A) and (R) are tri€’and (R) is the
correct explanation of((A)

(c) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(d) (A)is true, but (R) is false

TR
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T et 5 gy FreferRaa B @ e
T TR w2

1. ATy e

2. Hfge wd are fera 7

3. I =g aiR sAtaeIEl A

4. ST wd qAeE

IR 13 Ry o o & v v P
Eﬁ‘fﬁaz

(a) ¥ 4 (b) a1

(c) et 1 3t 2 (d)%-aﬁzaﬂts

. Preffea 3 @ wm-an/& Rram ST e § T

e e & wieiftr TG Seep @i TG e
R @ R 7 _

1. T frwm
2. Then fepmm
3. TreET o
3 Ry g g2 & @ W IAC:
Fe:
(a) et 3 (b) e 1
(c) 132 (@) 133
. fm drer el F, P # 3 ESE
F-T1/& FoA AE 2/2 7 B

1. I8 Gifeay FESSH HEMHE 8 |
0. g ferame 4= o v g R |

2 R e g2 @ wH IW AT

He:

(@) Fa@ 19§ 2 (b) aet 1

(c) e 2 (d) 13 2gH

. R o e R e F, R B w R AT (A)

T g8 T HRY (R) F T |
v (A) : ST ST GeU
(T, 3RH.) | B W HenE R EH 2 |
O (R) : TR, 98 qoa @ < Fosban
3501 | eI & B 2 |

= fou g g2 @ @ IW g

L 4

(a) (A)7er 2, B (R) W& @

(b) (A) 3R (R) 2 @t & 3K (R), (A) Ht W&
ST hdl

(© (A) 3 (R) 3 Wl &, BFg (R), (A) HT T
STET 78] L B

(d) (A) T R, fFg (R) TIeTd B

e e < i o 4 e A i il e . ot 8 S S e
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10. Consider the followmg elements found in
a typical 70 kg man and arrange them in

10. T WMWY 70 fRon. =afda § 9@ 9 9™

1
correct answer using the code given below 1 Ek i AU L T EHT S o TE R I |
EE the lists. Li(“‘t; " : qgﬂ-] '{fuﬂ 11
ek  List-1I st - . il
ER‘% (Nuclear Power (State) : (o vife Ha) (
A. FIFFH 1. FACH
Plant) £ i 4 :
A. Kudankulam 1L l(amataka : B. SHehiai 2, afEg
B. Kakrapar 2. Tarml Nadu l C. &m 3. TSI
C. Kaiga 3. Rajasthan i TqFauTe] 4, TSR
D. Rawatbhata 4. Gujarat 1| D. )
Code : i e :
A B C D | A B C D
(@2 4 3 1 | @2 4 3 1
b)) 4 2 3 1 j b)a 2 3 1
4 2 1 3 . | )4 2 1 3
d 2 4 1 3 1 II dy 2 4 1 3
i
|
|
I s

correct increasing order. C? w0 A srafem $ifv |
sElm. B L A
3: Copper 2. ‘
4. Iron 3. dren
Select the correct answer from the code 4. &g
given below : e, A e Ty % ¥ 7 IW T .
Code : ) ¥z
(@ 3,4,2,1 (b) 4, 3 2, 1 (@) 3,4,2,1 (b) 4,3,2,1
(c) 4,3,1,2 (d)34~12 c) 4,3,1,2 (d) 3,4,1,2
11. Arrange t_hefo].lomngsamtsmcorrect 11. Froffas 9 = o SreshaTIaR FH § SHadd
chronological order and seléct'the correct $ifr 7o Y fog 7w F2 ¥ TE IW FHC |
answer from the code given below. 1. AFSH
1. Nanak 2. a4 AEWY -
2. Chaitanya Mahaprabhu 3. AMNeE
[m]:%(=] 3. Namdev Pt
i L35 .
[=] &dle{a.-blr _5.-“ %he:
(@) 4,3,1,2 (b) 4,:3;2, 1 (@) 4,3,1,2 (b) 4,3,2,1
(c) 3,4,2,1 (d) 3,41, 2 (@ 3,4,2,1 (d) 3,4,1,2
12. Consider the foIlolwingalandciana.nge them 12. Pafefes «w e fite @on 3R a8
in correct chronological order.
1. Jawahar Rojgar Yojana HICTSRHTIAT 5hH & oaafeer i |

in Rural Areas 2. 7fior & o wfgenadl i == W T

|
'
1
i
|
|
{
|
|
:
2. Development of women and children i 1. SErE VSR T
|
3. Integrated Rural Development E
i
|
i
i
|
!
|

Programme E = 3. whigpd unfior fosm S
4. National Rural Employment 0| # 4. TS Ui VSR FHRHH
Programme s
Select the correct answer from the code 9 fex M@ % ¥ T IW g :
given below : ¢ '.ﬁ w2
Code : £ '
(@) 4,3,2,1 (b) 3,4, :2, 1 1 (@) 4,3,2,1 (b) 3,4,2,1
(c) 3,4,1,2 (d) 4,3,1,2" (c) 3,4,1,2 d) 4,3,1,2

B e i S e S ———————— A Sl —— i — T i ) X
A Rl et ! e i i B il i e i i Eps S

@4+@



14.

15.

16.

[ Select the correct answer from the, code

Eli_‘qi given below : LT
Code : St
(@) 4,3,1,2 (b) 3,4, 1,2
€) 3,4,2,1 d) 4,3,2,1

s —- s —

/s comee
1. € nationg] intereg (5
cszl‘f:::tli%ga;} gass a reso‘i’ i}ilcen%?)%"ya
2. The resolutj W All Indja Ser{:r'i’éé
India Servicon for Creation ofﬁew All
Rajya Sabh 3 11;1 ust be Passedby the
& Dy two-thirq majsrity of

the total mem
Select the Correctgf{s of the house.

given below : SWer from the code
Code :

(a) Neither 1 nor 2 .

(c) Only 2 (0) Only 1 |

(d) Both 1 and 2
. . S )
g;.mplf;ii?i;y m:n fgll;;rv;_naig Comrpitte%s{?-elating
correct chronologicalgo?-&?: o fOIZEI;fa\tion =
1. Lakdawala Committee ;:.:,.‘1

2. Rangarajan Committee -
3. Tendulkar Committee

given below :

Code : bl
(a) 1,4,3,2 () 4,1,3, 2x
(C) 4: 11 2: 3 (d) 1’ 4, 2, :_6,,-"«.?

£

With geference to ‘Brazil’ which %ji":fhe
following statements is/are correct ?

1. The equatorial rainforests of Brazi
called ‘Selvas’ . of Brazil are

2. ’_I‘he dark black colour fertile land here
is called ‘Terra Roxa’. 5

e
Select the correct answer from thg,code

given below : =

Code : if:w;
(a) Neither 1 nor 2 (b) Only 1 {-;'ji.
c) Only 2 d) Both 1 and 2
(c) Only (d) arid

Consider the following events a:flz‘c;'\]arrange
them in correct chronological order.

1. Poona Pact

2. End of Civil Disobedience Moyement
3. Gandhi-Irwin Pact h;?’ }

4. Second Round Table Confer@;i:.f_:e

|
t
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13 ommesakGaes s
R R s S S S B PR R Y

AR R TV

© U T A, o oy 7% v R
T 1 e wri w0 wwA R |

2. W ew wrdi e @ I

TS 91 § o1 wewa d@ 5 A-foed

T | Ui B 3T 2 |

EI'_E]:@QQ .
gég% ™ e & o P -

(a) q?‘hl:‘[tﬁg

(b) a1
(©) Fawt o

(d) 13 2 Mt

Hifm |

1. shgmamen wfifs

2. TR wfufy

3. tgere afrf

4. greaR 3 T wfify
%ﬁﬁqmﬁaﬁaﬁmgﬁq

@ 1,4,3,2 ®) 4,1,3,2
(€ 4,1,2,3 d) 1,4,2,3

15. ‘switer & dedl ¥ Freafefaa & @ sq-w/a
U wd R/ 7
1. Sliet 3 oo W& auisAl ) Yo FEa §
2. TR H TR H T H IS oyl B
[T FEd & |

%%E.:ﬁ%ﬁqmw%@wﬁm

Fe2:
(@ AWM 1TE 2 (b) et 1
(c) Faw 2 (d) 1 3R 2 gFi
16. F=fefan semedl w foum e aun = v
HIHHITER 379 ¥ =afRra Hifg |
1. 1 SEgal
2. GieTa JEH < T
3. nid-3fdT smeian
4. fefa M W wen
He fog T e @ w @ I
e
(a) 4,3,1,2
(€ 3,4,2,1

i S i P i . B

b) 3,4,1,2
d) 4,3,2,1

— -

—

@5 @
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17. With reference to Sahitya Akademi Yuva ! 17. SH 2025 7 Giftd Tifee FTehTert 9 PRI % Ty
Puraskar announced in June 2025, which i, Praferfaa § & BF-a1/3 H4F T ?/E?
of the following statements is/are¢ correct ? 1. 7 e 23 R et § aifva &R

1. Yuva Puraskar was annourioed in

et i AV Ml Pt P e e - e S S T L ey,
. e g S ) |t o i PP ot | e B

L i |

Ei‘E 2. Second Anglo-French Warr “y

(
i
|
23 Indian languages. Led f m |
2. There is no Yuva Puraskar in Dogri i 2. ¥a g4 Sl § 1§ T TEHR TR
this year.
Select the correct answer from the code : A9 fou MU Fe A FE ITW qFT :
given below : i we:
Code : |
| 14 FHad 1
(8) Neither 1 nor2 (b) Only 1 | =) o 2 (b) he i
(c) Only 2 (d) Both l.and 2 ! (c) 1<t 2 (@) 13R2
(o | :
18. Consider the following wars andjarrange | 18 frefaRaa ﬁ;ﬁ:tﬁﬁm'r{ Hifsrg qun 32 T8
them in correct chronological ’@)raer. : RICTShHI . wafe i |
1. First Anglo-Mysore War = ! 1. o G- 7
]

2. fadfa Tl -wrefeht 3

3. First Anglo-Sikh War 3. M Ta-EE g5
4. First Anglo-Afghan War 4. YUH TAI-3THTH Ig
Select the correct answer from the code (=] E oy fm T 5 ¥ WE IR
given below : rO Eiﬂ %=
code ! 7 @ 1,234 (b) 2, 1,3, 4
(@ 1,2, 3,4 [b)213-’4 3 ) 12,4, 3
(c) 2,1,4,3 d) 1 243 (c) 2,1, 4, 2.4
19. Operation Brahma was launched by India 19. T 2025 A WA A TRIA Fell Fefafea 4 3
in March 2025 to provide humaiitarian aid frg 291 = TRAY TEEA TeH E % I I
to which of the following countries ? RpaT o7 7
1. Bangladesh 1. ST
2. Mj,.'a.mnar 5. i
3. Sri La.n-ka f'.'T'J 5 o
4, Malaysia €51 4
Select the correct answer from the code . T 3
given below : 8] "ﬁ'%ﬁ"l“"!.@ Eﬁmﬁﬁﬁ:
Code : b H2:
(@) Only2and 4  (b) Only 1=, (@) FaT 234 (b) e 1
(c) OD.IY 2 [d] Only 1 a.nd 3 (c) aﬁ?{ 2 {d) ‘aﬁa 1 3:?{'{ 3

20. TH-T-9Ud 1748 @ & wof & Frafafed
§ ¥ HH-T1/Q w9 R/ ?
1. ¥ HAleh g THTA g |
2. WG 3T < aTod R fean |

20. With reference to the Treaty of Aix-la-Chapelle,
1748, which of the following statements is/
are correct ? )

1. The first Carnatic war endeds

2. Madras was returned to thé British.

[§] Select the correct answer from the code
E%ngbehw } fﬁw%.ﬁqmﬁﬁuﬁmﬂﬁm
o) Neither 1 nor?2 (b) Only 1" (@ IAM13@2  (b) ¥ 1
(c) Only 2 {d) Both 1 and 2 (c) et 2 (d) 13 2=t

- B — s = —

] e e ———— P
T A el ek e S e Skt ot S o — Sy i Pt

] - . g — o —— S $3 i S - —"
o R S

F
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" 57, Wt e e T T T R e
concept of entitlements ﬁ] 1?063?:ei1i itl:e? | 2L ‘mﬁ‘:ﬁ?ﬂﬁaﬁ  J Rrey g @ g 3 i 5
1. M. S. Swaminathag o 1 YT e o S 2 ¢
2. Atul Pranay C | 1. @, @, @l
3. Samali Srikant Cad 'i 2. S o
4. Amartya Sen t‘_}i |l 3. 9UTt sfepia
Select the correct answer from the code | 4. W o9
given below : : ﬁﬁqmz@gq@mgﬁ:
Code : : T
(a) Only 4 (b) OnlyL i () %= 4 (b) =t 1
(c) 1 and 2 (d) 3 and 4 i (©) 132 (d) 33 4
D q
22. Match List - [ with List - II aﬁd'}choose the t 22. ¥ -1 -9 gafea i MR
i:i_ correct answer using the codé?ﬁven below : % R Ry My 5z & T ITW M |
T the lists. ey ] -1
Eli;% List - I List - II ‘ -1 ?ﬁﬁﬁ -
(State) (Number of seats () - (A E
in Rajya Sabha) A. ARIS 1. 16
A. Maharashtra 1. 16, B. ®AeH 2. 18
B. Karnataka 2. :}‘Eﬂi‘l c. faEr 3. 19
C. Bihar 3. 19
D. dherTg 4. 12
D. Tamil Nadu 4. &i @
Code : LI
@2 4 3 1
@2 4 3 1 b3 4 1 2
M3 4 1 2 0g 1 8 &
e 1 2 3 41 2 4 3
@1 2 4 3 BN ‘
L e B ;
23. Consider the following revolts.and arrange {  23. Frferem fomel 5 ki el
them in correct chronolog;ical';oyder- SHICTSHATTER THH # =afRm HiT |
1. Pabna b 1. e
2. Indigo | 2.
3. Kuka 1 3. &I
4. Sanyasi p 4. g <
mygE) Select the correct answer frof fhe coce 3 fe e FE A FE IW I : o £
" Code: €0 | @) 3,4, 1,2
(@ 3,4, :13, ? ‘”i (b) 4,2,3,1
(b) 4, 2 2’ : o { © 43,21
(c) 4,3, 2 (@) 3,4,2,1
(d] 3, 4’ 2, 1 w2
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24. Given below are two statements, one is =
labelled as Assertion (A) and the other as |
Reason (R). o i
Assertion (A) : The interior part'ofAustralia =
is desert and semi-desert. €0 i
Reason (R) : Northern Australia s situated :
in the temperate zone. (Y. i
Select the correct answer from* =
given below : i
Code :
(a) (A) is false, but (R) is true
(b) Both (A) and (R) are true andy(R) is the
correct explanation of (A) IT.’r
(c) Both (A) and (R) are true, but:(R) is
not the correct explanation_of (A)

m

;‘.He code

(d) (A)is true, but (R) is false Lo
{ ';E

Given below are two stateménts, one is

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Evaporation of sweat from

human skin dissipates body heat.

Reason (R) : High humidity on}‘fsféhot day

increases discomfort. }:,fl\_:

Select the correct answer from;the code

given below : e

Code : ;j*

(a) (A) is false, but (R) is true

(b) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(c) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(d) (A)is true, but (R) is false
-l

| D

25.

e

 Given below are two statements;-one is
labelled as Assertion (A) and the other as

Reason (R). ’;
Assertion (A) : In the Himalayarrmountains
different types of vegetation are found.

@ Reason (R) : In Himalayas, there are variations

% in climate with change in altitude.

" Select the correct answer from the code

given below : 0

Code :

(a) (A) is false, but (R) is true ./

(b) Both (A) and (R) are true and’(R) is the
correct explanation of (A) ‘-

(c) Both (A) and (R) are true, but'(R) is
not the correct expla_natiorf of (A)

i)

=
iy

o T,
f

i

e

(d) (A) is true, but (R) is false

B Bt e e i e S i B | i o i P
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~pa, A @ we RUTeR, e v st
)

EW@?ATW_(lew%|
; aifirRer (A) @ SR 1 sty
T ST B | - T R,
R0 (R) ¢ 30 SRR T et 3 3

fRE e |
# for T R ¥ TR SW g

@.
(@) (a) Te@ &, fFg (R) wd @

) (A) 3 (R) T o (R),
(b e 2 (R), (A) 0 =@

() (&) 3 (R) T Z,
e 1 o 2 ﬁ“'&'&(R),(A]a?m—a
d) () T &, FFE (R) o 2
25, £33 %o M E, i o = afeem (g
ma@iaﬁwm)mnm%l
PR (A) : THE o @ TR w5 ared
ré <6 Tl AL TR |
rw (R) : T e § o9 I @ S g

ik
£ feq MU He § T IR IR :

e

(@) (a) T &, Ty (R) 7@ 2

(b) (A) 3 (R) IFF wet § 3R (R), (A) B W
TE HT B

() (A) 3 (R) I & &, g (R), (A) B &

 oTE T Nl B

(d) (A) & &, oA (R) Tea @

26. 493 Fem Ry e E Fed o A ARA (A) T
TR H HA (R) &1 TR |
aftrwem (A) : femrer wda o fafie R S
geafeal arft et 8 |

o= L (R) : forers § Sred & @t sy 3
o Rl 2 |
= gﬁqmﬁﬁﬂﬁmgﬁq:
(a) (A) 7w 2, BFg (R) & B

(b) (A) 3R (R) 2Rt =& & 3R (R), (A) A E
T Ll &

(¢) (A) 3k (R) A wdi 3, Feg (R), (A)H
ST &l T &

(d) (A) %@ R, ey (R) o1

it -t
R -
e .
-

A

-
e e
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27. Withreference to Multi-Di NS
Index’, which of the mqnsional Poverty
is/are correct ? the following statements
2 }t e developed and introdced in 2010.
" in clugzls'li ‘133 extreme poverty and
those livi ifokq t
dollar per day. iving on'less than one
Select the correct a oSS
given below : nswet u?l.l!:g the code

Code : L
(a) Neither 1 nor2 (b) Onl ,
F y 1
(c) Only 2 (d) Both 1 and 2

28. Match List — I with List — II and select the
Eggect answer using the cod€ given below the

EEE st List - II
EiIZ% (Emperox] (City:where
Tomb is located)

A. Babur 1. Agra

B. Humayun 2. La‘.l“l_bre

C. Jahangir 3. Delhi

D. Shah Jahan 4, Kabul

Code :

A B cC D

@3 4 1 2 -

(b) 4 3 1 2 !:H":-..}

4 3 2 1 L

(d) 3 4 2 1 .

LI

29. With reference to Public Acéounts
Committee, which of the following
statements is/are correct 200

1. Public Accounts Committee submits
its report to the Lok Sabha.

2. Public Accounts Committee consists
of 15 members from Rajya Sabha.

Select the correct answer from the code

given below : g

Code : v

(a) Neither 1 nor 2 (b) Only:1

(c) Both 1 and2 (d) OnLyz

Mangrove Initiative for

s and Tangible Income

the following statements
| Thear

30. With reference to
Shoreline Habitat
(MISHTI), which of
is/are correct ? ¢
1. It was initiated in 2019.

re Mangrove forests.

9. It aims to resto «
Select the correct answer from the code

- ~—

% given below : 9
% Code : =
(a) Neither 1 nor 2 (b) Only 1
(c) Only 2 (d) Both 1 and 2

g";
i e st PR, -

27. wg-3mam o

¢
l

i
_|
|
|
!
|
|
|
{
!
[
|

P —
ot . St

28.

29.

30.

CIZU-1_ 4,

e S
A B/ o w272 7 Freffe 5

1. ¥ 2010 # fasfrt i s P o

:ﬁ%%ﬁam%] A F T )
T e wA I P
(@ Ad 13d 2  (b) A1
(c) %t 2 (d) 1 % 2 2
T - 1 %) et 113 gAf FRT e
ﬁﬁﬂmammwwmgﬁq?ﬁ%
’W"I q\;ﬂ_n
(wme) (Tet T v e )
A. w T 1. ST
B. g 0. TTER
C. grfit 3. feeeht _
D. wETEl 4. HTEA E,}%‘?
e mi
A B C D
@3 4 1 2
e 3 1 2
4 3 2 1
@3 4 2 1
aﬁmé@aﬁﬁr%wﬁﬁﬁmﬁfaﬂﬁg

Fr-a/2 wo w8 /R 7
9 Pﬁiﬁé@aﬁrﬁfmﬂf{tﬁéaﬁﬁwaﬁ

diudi 2 |
2 v S affy # TS 'S 15 W

a2 |
43 fon T e & A I I

G T4
(@) A 1AE 2 (b) Fae 1
(¢ 1 32 g (d) e 2

mmﬁtqﬁm%mﬁaqﬁ
(ﬁ@)%daﬁﬁﬁw%%ﬁﬁﬁﬁ-m/ﬁ
=y e 2/2 7

1 zazowﬁmﬁmmmmu

2. wﬁwﬁﬁaaﬁaﬁgﬁﬁﬂm%l
fﬁ%ﬁﬂ.ﬂﬂ'ﬁ?ﬁﬂﬁaﬂtgﬁt{:

e
(@) AT 17 & 2 (b) FEI L

o e e o e 2

i e o i —

=



>
B e Eren wemal TR A e 3
31. Consider the following events and arrange t 31. T ATIER T % wrafRn fiktm | = "
them in correct chronological order. | G e =
EE 1. Cripps Mission o 1 1. e 2
N‘:‘;_ﬁ 2. Cabinet Mission LT ) 2. e
[EISY 3. Shimla Conference (i : 3, famen 8 s
4. Wavell Plan (s , 4, A zﬁsﬁrﬁ o
Select the correct answer from the code : 43 feg T RE ¥ T ENRE L
given below : W | 5
Code : et ! (@) 41,23 (b) 1,4,2,3
(a} 4 1, 2'3 (b) 1,4,2,3 | (c] 1,4,332 (d} 4: 1, 312
(c) 1,4,3,2 (d) 4,1,3,2 : PP
Prefafad - 3TE T G firgs
32. Which of the following rivers fall.into the 1 32. IR ﬁmk‘}
Arabian Sea ? 'L = g 1.
1. Periyar (e | 2. TR
g. Paiar % | S ¥ Tl IW AT
? ar :L:}
Select the correct answer from t:ﬁgicode ! 2 fag TR
iven below : - :
(g;ode 2 e (a) o1 3 (b) 1 Zg'{t 2
(a) Only 3 (b) 1and 2 ¥ 1 (d) 2 5
(c) Only 1 (d) 2 and 3{ | (© R
H‘-_,} _ - H. gﬁ%—d m\‘ o
33. Match List - I with List - Il and é_ﬁpose 33. lf:ﬁ 10 ﬁﬂ % T8 T ;2;@-“3
the correct answer by using the‘code 2 feg Mg 2 F T |
given below the lists. ‘:J; gl -1 T -1
EEE List - I List - 111411 (reT &) (2w)
zofee  lcostmEa) (Countzy), A, IR 1. i
"M A. Appalachian 1. England e
SEANIELY 2. W
B. Lancashire 2. Germany B.
C. Ruhr 3. Russia C. & 3. W
D. Kuzbass 4. United States of D. $oe™ 4, EIF T i
America- F:
e‘ . l
Code . f:_'j:l' i A B c D
A B CD L { @1 4 3 2
@1 4 3 2 L2 i b a 1 3 2
)4 1 3 2 13 |
)4 1 2 3 oy = 4 1 2 3
@1 4 2 3 ) i @1 4 2 3
!
34. Which of the following statements 1 34. Fraffea wert § ¥ -/ A T R
{
i
!
{
!
|

is/are correct 7

1. Dolphins and Whales breatliéj-_—f:hrough

blowholes. pys
2. Earthworm breathe through their
L

skin. g
Select the correct answer from th'_'clcode
given below : ]
Code : L.J
(a) Neither 1 nor 2 (b) Only 1
(c) Only 2 (d) Both 1 and 2

e A e — i e e S o i

@10@

|
!
|
{
!
|
|
baciy

1. <few otk S seieied 3 wrean 3
R g |
2. WMW%M%@HQ’&?'

A fow o e @ v sw R
®2:

@AM 19§ 2 (b) Haet 1
(c) %= 2 (d) 1 3R 23

—_— e, -
- -
s i A -, e e



1. Meghaduta
2. Raghuvamggqy,

3. Shringar Shatal
Select the corre

NG
£y

|

|

|

i

i

|

1

|

£ |
e |
Ct answer from t:he'coclc !
s i
i

|

|

|

|

&= given bel . )
%55% giv elow o
E]r Code : -

(a) Only 3 (b) Ol‘ﬂy 1
36. Which of

37.

T P e s e .t e A el et SR, S R . i M i e i i R

- the following pairs of Part of
Indian Constitution and its sﬁbjéct
is/are NOT correctly matched 2,

l. PartIVA - Fundamental‘Duties
2. Part Vi = The States * »}}
3. Part XI - '

The Municipalities
Select the correct answer from the code
given below :

Code :

™)
() Only 3 A
(b} Only 1 ax
(c) 1 and 2 &
(d) 2and 3 G

o

Given below are two statements, one is

labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Voices of menfand women
are different. I

Reason (R) : Length and thick'i‘i?‘ss of
vocal cord is different in men and women.
Select the correct answer fl’OID:'E:"_;i'_le code

given below : O
Code :
(a) (A) is false, but (R) is true

(b) Both (A) and (R) are true and (R) is the

correct explanation of (A) 7

(c) Both (A) and (R) are true, but (R) is

not the correct explanatiorjf-'(?;f (A)

(d) (A) is true, but (R) is false .

T ——————————————— SRS

ClZU-1 - 23

- ————— .

35.

36.

37.

@11@

foran w2 4

1. gy

2. T

3.’&7[1'{3(]335

2 few o e & 7 s g
&e

(a) et 3 (b) et 1

(c) 132 (d) 233
et sy 3w ik 3ok from =

Freffes & & @m-m/2 70 o g T
8/ 7

L.YMIVA - wifees waea
2. 9 VI - T

3. 9 XI ~  FaTeeRd
R Ry 7 e @ wd s T
%

(a) aet 3

(b) et 1

() 13k 2

(d) 23k 3

1 2 o fog e €, R o 9 ol (a)
TAT AR I HRT (R) a1 T2 |

Afrmem (A) : Teul 3k wfeenat ) s
-3 Bt & |

TR (R) : TF61 3N wigenati § dvret w7 6
T IR AT SterT-atem Bt 2 )

H= fow e g ¥ v v g EI5E
FT @R‘g

(a) (A) Terd B, fopg (R) d R

(b) (A) 3R (R) Sl wdl € iR (R), (A) Y w
T il &

() (A) 3 (R) SFI & &, g (R), (A) it T

T T8 @l &

(d).(f-k)ﬂﬁ%.ﬁa——g{mm%



38. Match List - I with List — Il and choo
correct answer using the code given beloW
[ S

x the lists.

i

ey List - I List - II
EIR$ (Refinery) (St:_af_'e]

A. Nayara 1. Assam

B. Manali 2. Gujdrat

C. Numaligarh 3. Andhra Pradesh

D. Tatipaka 4. Tamil Nadu

Code : [~

A B cop

@2 4 1 3 o

(b) 4 2 1 3 I'.f:rv.:}

g4 2 3 1 <71

d2 4 3 1 -

With reference to '‘Operation Olivia’,
of the following statements-is/are correct

1. It is an initiative of Indian coast
Guards to protect Oliv?;l?jdley turtles
along the coast of Odisha.

Operation Olivia is carried out during
the month of August which is the
nesting time of Olive Ridley turtles.
Select the correct answer from the code
given below :

39.

Code : r“':]
(a) Neither 1 nor 2 (b) Orily 1
(c) Only 2 (d) Both 1 and 2

o)
\BHARATPOL', an online portal for

40.

developed by which of the following ?
1. Central Bureau of Investigation

2. Research and Analysis Wing
3. *
4.

Select the correct answer from the code
£ ad

¢y

Intelligence Bureau |-/

P L]
{ I

. £ 41
Enforcement Dlrectora‘ltje)

El*{iEl
Eji‘qé given below :

Code : L
(a) 3and 4 (b) Only 1
(c) 2and 3 (d) Only 3

which

i —

e
& —

e g - 1 A i g
: gt -1 TW-n 5
} (afer AET) (T)

i| A, A 1. 3@y

E B_ﬂ#‘l’t"ﬁ 2. Tom

: C_Eﬂﬁﬁ“_‘?’ 3. mﬁm
{ D.?[Tfﬂqm 4. ffﬁl?‘l’-‘(‘@
l 7€

1 A B C D

i 2z #-1.°

! w4 2 103

i (c) 4 2 3 1

: (d) 2 4 3 1

it SR % e 8 P v
/A A T 2R 7

e 3 o AR T TR G vy
o, FifdT SN ST % A ¥ 4
e ST @ S e fee wga
Hiae ST 1 9 2 #
fog Y He § FE W G :

39.

=

e
(a) A 1T E 2 (b) S 1

(c) et 2 (d) 1323
40. sqUs yira wEdm % e A e

lg%@‘mﬁ'ﬁmﬁﬁmmm
:E%WW%?

1. ¥ e =

| 2. FrgEum R faerwor fam

i 8, Hra@ma@

| 4. vada fremmem
R e e e @ wet s g
%
(@) 33k 4 (b) e 1
©) 23k 3 (d) e 3
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41. _Which among the follo-;&-i—ﬁ‘g words were

inserted in the Preamble of'the Indian

Constitution by the 42nd Gopistitution
(K

41. 42ﬁﬁﬁmmﬁmm:ﬁ?ﬁﬁ e
IS e o Frafrfiae & & SH-4 TR 91

492, Wi'.ch reference to ‘Internat‘igﬁal Solar
Alliance’, which of the following

42. st g rewe % wed # Freffen & &
- /A A TR R/E 7

Amendment ? 1 E'l' ™Y 7
1. Socialist L l 1 mmiﬂ
{ ; t:" | )
2. secalar v 1 2. wfrder
3. Sovereign & I
| 3. HEIYdl
4. Republic i i .
Select the correct ans .
given below : wer IEheeoe | A foe T e @ Rl I I
Code : "», ; F: ,
(a) 3 and 4 (bll%ﬂdg 'a (a) 33N 4 (b) 132
(c) 1and 3 (d) 2 and 3 ! () 133 (@) 233
i
|
|
|

statements is/are correct ? . : .
1. Itis the first treaty based 1. g vgen Wiy AT 'W—Eﬁﬁlf.l TS 2
Inter-governmental organisation T g MR i ¢ 3 39d 38 Hed
hgadquartered in India with TN |
38 member countries. . -
2. World Solar Bank a.nd{dx}e Sun & Wﬁ%ﬁaﬁtmmﬁﬁﬁmﬁ
One World One Grid Initiative were TEw ga FA=UIG bl TR
initiated under it. 5 3 fog o e A T T
Select the correct answer using the code we:
given below : £
Code : '“" (@) AW 1TE 2
(a) Neither 1 nor 2 (b) e 1
([b; 8$Y ; (c) et 2
c y
(d) Both 1 and 2 @ 13 23
iy :
e 43, 9 2 wem fog e &, R o AR (A)

43. Given below are two statements, one is
labelled as Assertion (A) and:the other as

Reason (R). {0

W?@i@wmww%!
1R (A) : HITST THIE T Y FaeqL Hihl

;
i
[El7%[E] Assertion (A) : Buland Darwaja was i ¥
w?% constructed at Fatehpur Sikri by the ! # gei< G o sHtaTan o |
(N Mughal emperor Akbar. a‘ W(R):m?sawmﬁnhamsﬁ
: uilt this monument to i . ;
Reason (R) : Akbar b | m i 3 S Bt g O |
!“

cozmnemoratethebirthofhissonJahaIlgiI- %%ﬁmm@ﬁﬂﬁmﬁﬁﬂ.l

from the code

Select the correct answer i

given below : . ' ®e:

Code : L5 @) () T 2, FFg (R T 2

(a) (A) is false, but (R) is true (b) (A) 3T (R) S & ¥ ain (R), (A) T

correct explanation of (A), 5 1 A L IS—— —_—

(c) Both (A) and (R) are trig; but (R) is (c) il il
the correct explanation of (A) _
@ (A) T3, T (R) e

PR

not
(d) (A) is true, but (R) is false

fp— e ] o i A
e —

s e P S

:
:
!
[
{
|
|

(b) Both (A) and (R) are true.and (R) is the E SATEAT Tl
i
l
{
!
1
1



4, @% S “._q-_.? EZU*I Ty

; - == - ;
e e S R e S S B S e m%ﬁﬁ[ﬂﬁﬁ\@ﬁ TA1 & T3 W fasy, H\‘E
44. Consider the formation of-the following | 44. B 3 e A de 31 s s m ﬁ

States of India and arrange them in Correct i R% e
chronological order starting from the : e el G " =afeaa Hifw | a7. .‘
.___ earliest to the last. R i 1. 99
i 1. Punjab 22 e
@& 2. Arunachal Pradesh L |
L ) 3
3. Nagaland 3 | AT
4. Sikkim hood % 4. fafed
Select the correct answer {rom the code | £ g e Fe ® FE IW T
given below : = .
Code : % @ 34 L 2 (b) 2,3,4,1
@) 3,4,1,2 ® 231 | © 3,241 (@ 3,1,4,2
(c) 3,2,4,1 (@ 3, 1,4, 2 ! 5
45. Match List — I with List — IF-&hd select the L 45. o -1 -1 mg N 48
: Lo ¥ i3 feu T H B Wq‘amw o
correct answer using the cca'ﬂcj_; given below @ 1 T -1 | E]‘g
t—be ].iStS. ;: '1 » —;;:
List - I List - II (gfereR grerr it 3oft) (202§ﬁﬁﬁm Otg
(Pulitzer award (Awardee in 2025) A. free 1. A Uady
categories) dfia 9. T A
A. Fiction 1. Jason Roberts B. 3. gt T iy
B. Music 2. Branden c. Sl .
Jacobs Jenkins @@ D g1 /AEH 4. gHias wER
C. Biography 3. Susie Ibarra % 2
D. Drama 4. Percival Everett [=]
L2 A B C D
Code : e 2
A B € D ied @4 3 1
ws 212 & TREE
- 3 4 2 1
©3 4 2 1 e (c) o
@4 3 2 1 (d) 4
46. Match List - I with List — I and select the 46. g — 1 T - 11X GAfea hife o g
correct answer using the coc}g given below : = few MU HeE = T B FE TN ﬁﬁ‘l |
the lists. o F{Sﬁ _ 'FE?I _
& a3 I I n
[E123(E] List - I List - II i
S (Governor (Inip’?rtant i_ (TR e/ (FEeayul e &)
Of & General/Viceroy) cont;:"-_illg,l.ltion/ work) : TR
A Iﬁoaﬁ i 8 p:trzlnci?’e'grli]ttof Bengal : A. TS SARA 1. S 1 T R
ousie s ien
B. Lord Curzon 2. Prohibition of | B. 98 &9 g, mﬁ wer w1 e
Practice of Sati | C. o faferm 3. smw 1 o
C. Lord William 3. Partition of Bengal ; 36 )
Bentinck _
D. Lord 4. Doctrine’of Lapse } D. W% SHafe@ 4. =9 &1 fagm
Cormnwallis L5 t He:
@3 4 2 1 (0 l @3 4 2 1
b)4 3 2 1 ) | b4 3 2 1
e |
g4 3 1 2 iy : ©) 4 3 i

A —— e b e e S i e B e S S e 80 it W Sl b i e T e )

@ 14 @ o e i i e e e i b e

-
-
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48. Which of the following pairs'is/are NOT
ind

of correctly matched ? ;
QS}.E] (Biosphere (Stiite)
E]I'[:; Reserve) ey
1. Nokrek - M a.ﬁipur
2. Manas — Assam
3. Agasthyamalai - Kerala

49,

50.

—

SChem;ogfa?t;af Pradesh, Moonj products |
are as ed with which il
districts ? jofythe following |

. i

1. Amethi e
2, Sultanpur D
{ad

3. Sant Kabir Nagar s

Select the correct answer ffom the code
given below :

Code :
{a) Onlde (b) 1 an ‘21 2
LWL |

Select the correct answer from the code
given below : 7

i hes

T

Code : W

() Only 3 (b) Only,1

(c) 1and?2 (d)2$?}§3
i

The Gobi Desert is spread across which of
the following countries ?
1. Mongolia

2. China

3. Russia

4, Kazakhstan :
Select the correct answer froL_l;-n the code .

"'k.l

L )
Py

given below : 03
Code : <

(a) Only 1, 2 and 4 (b) Only/1

(c) Only 1and 2  (d) Only 1, 2 and 3

With reference to ‘acid and bases’, which of
the following statements is/are correct ?
1. Acidic solutions have pHmore than 7.
2. Basic solutions have pH.less than 7.
Select the correct answer f___rﬁi?jn the code
given below : ¢l

]

Code : s
(a) Neither 1 nor 2 (b) Only 1

i
!
i
!
i
|
i
|
i
{
|
i
{

I
=

i

mISE 2. el faera =1 pH 7 ¥ F0 & 2 |

2EE T e
47. Asper the One District One Product (ODOP) | 47

N
Co

49.

- i g — . t ( ’ .
muﬁmzﬁt{aﬁﬁw@3“'a <

S daafmg 7

1. &

2. GRAHE

3. Ta He TR [=]7% (=]
) fow 0 gz @ @@ I I ﬁ?q%;
T2

(a) ¥t 3 (b) 132

() 133 (d) 233
B 3 & /3 7 T8 GRE R /2 1

(ariafr ferd) (@)

1. TrRGH -

2. AFE - oA

3. TS - F@

9 Ry e e @ T IW IACL

®e: R

(a)ﬁﬁrﬁ.’i" (b) e 1

(c) 132 (d) 2 33

et T Frefea F Y A A HA R ?
1. Hferan

2. dH

3. &4

4, HATEEH

e

(a) ¥ 1,234 (b) Fot 1

(0 Fat 132 (4 Fa@1 1,233

50, v 3R A % e #, Pt 3§ 8

FH-T1/8 FUA G B/2 7

B 1. ancfa frerm 7 @ ifus pH &1 g1 @ |

4
(@ 3@ 17382  (b) FaA 1
(c) et 2. (d) 1 3 2 3

i
i
.i
|
!
I
|
[
gzal

(c) Only 2 (d) Both 1 and 2

e e - ———— e ———— o — i —

15
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S1. With reference to Municipalities, which of
the following statements is/é‘ré correct ?

1. The eligible age to be a member of
municipality is 25 years,

2. One-third of the total number of seats
to be filled by direct electioh in the
municipalities is reserved-for women.

O El Select the correct answer from the code

EISE given below :
Code :

I'\. 2

() Neither 1 nor2 (b) Only 1‘
(d) Onl

(c) Both 1 and 2

52. Which of the following pairs 1s/ are correctly

':' .“‘a

{

matched ? e
(Coal Producing (State)

Area)
1. Maolong — Arunachal Pradesh
2. Raniganj - WestBengal
3. Rampgarh - Jharkhand
4. Talcher - Odisha®
Select the correct answer from’the code
given below : o

Code :

(a) Only 2, 3 and 4

(b) Only 1
(c) Only 1 and 2

(d) Only 1, 2 and 3

b

)

53. Arrange the following conquests of Alauddin
Khalji in correct chronologlcal order and
select the correct answer from the code

given below.
Ranthambore

%57@ 2. Jaisalmer

Ejrﬁé 3. Warangal
4. Chittor
Code :
(@) 2,1,4,3
(b) 1,2,4,3
c) 1,2,3,4
id 2,1,3,4

p—

\.'-

T e Sy |
[P s

Y ey
e L:

e e e e o L s =

i
|
I
!
|
|
I
f
I
f
|
|
!
|
I
[
i
|
|
!
I
!
i
|

51

52.

e bt . . gt At e, st g .

53.

CIZU‘

W%mﬁﬁ%ﬁq%%
/.

/e 7
1. TRATRTR] ¥R T 3
os5ad 2 | ﬁm%%ﬁ
2. mmr%fmmrwﬁﬁmﬂm
Wmmﬁ—ﬁm:m }
fera amelerd 2 1 q&ﬁhﬁ
9 fow T R F T I qfy .

zﬁz

(C}laﬁwa’rﬁ (d) e

freafaflad o1 °§ | BI- /3w i,

2/e ?
(R TeaTE ) ()

1. HEE - TR iy

2. TS - 9P gy

3. UHTS - FRavg
4. T-rl’ﬂ%’( - 31\‘%311
2] 1 fog e e & W S g

HE:
(a) aet 2, 3 3R 4

(b) FI 1
(c) a1 1 AR 2
(d) Fae 1, 2 3R 3

sremed Raerft A Prferfan frod 51
HICTHATTAR 360 o STy Hfre qan 43 fas
Fe ¥ TH IW 5 g |

1. 0T

2, JHR

3. I

4. fasie

e

(@ 2,1,4,3

(b) 1,2,4,3 |
(€) 1,2, 3,4 |
O . -



bJ‘.?.E....._.’_..._._._-..-..--..._...,_-‘,_ s : i & K i
==~ with reference tq t}, N oo e —————— e P —ffEa A 4 FH-
54 which of the follow?n et ban Bridge, o ‘:F.Er.]" E:Ed| | | -
b E statements is/are 2/ 7

Nigam Limitectcd by Rei3 1. 3o Pt e Fereera e ,égmq,ﬁw
» Which is'a ‘Navratna’ T R, S Y A % e e

i
i

1. It was constructeq by pJh |
Y Rail-vij |
" ikas |
public sector ynj; under' :
I |

2 ?trilze}l;‘c’i’iaay s s Ml arafres & 7 E |
. s first T ; ' e o 3
sea lbridge. - veKtiga] :Mli; railway 2. g NNA o ggell e habliobl
lect the corre - :
:i?!en below : °t answer from!the code 2 R mq F2 @ T I Ul
Code -
(a) gellthgr lnor2 () Only 1 : (@ ada1ad2 (b) IS 1 .
(c) Only (d) Both 1 and 2 | (©) Faw 2 (@ 1 32 &
| -

55 Which NOT sionowing Ramssr wetland site | 55, Freaffa & F-an/& T A e
1. Sarsai Nawar Sh:;Uttap‘EradeSh 2 } I e e A 2/2 7
) L | 1. wws TR sia

2. Samaspur Bird Sanctuarus
3. Rudrasagar Lake aghr 2. ggER geft 3N

4. Sultanpur National Park 3. TFAPR 3fie
if[8] Select the correct answer fr " 4. oL s I
%givenbelow: T from the code E.Fﬂ‘ﬁ%ﬁum_@ﬁa’eﬁmﬁmﬁ
B code : ) Elis% Fe: )
(a) 3 and 4 (b) 1an’r:q":'2 (a) 334 (b) 132
(c) 1and 3 (@ 2 a.t};.d--__fi', (c) 13k 3 (d) 233
]

56. Joint special forces exercise 'KHANJAR-XII' | 56. O 2025 % dgsa fRW o« 3na@ W -X1'
was held in March 2025 betweén India and wr 3k Frafaiaa § @ f57 33 5 g amEfa
which of the following Countries ? g

1. Russia : ) Q:[ e
2. Turkmenistan ) EAE
3. Kyrgyzstan g Refif
4. Mongolia B 4‘ i
Select the correct answer from;jthe code | ;
given below : T 9 feu T gz F vl IW g -
Code : (o kLR
(a) 3 and 4 (b) Only. 1 @) 334 (b) e 1
(c) 2and 3 (d) Only.3' (c) 23R 3 (d) %aa 3
T ;
57. Fefafea & & B9 woe ol s S aem 2 2

57. Who among the following were the members

|
H
of the Fazal Ali Commission ? i 2
1. K. T. Shah : L, %
2. K. M. Panikkar . ! 2. %. T, TR
3. P. Sitaramaiah 1 | 3. di. dardm
4. H. N. Kunjaru ) i 4. . W, F
Select the correct answer frq‘ri_fl}the code i w3 3 3
given below : g ; | !-_b?*:r feu e gz @ T Iw g
Code : i~ | [l ®2
() 2 and 4 (b) 1and2 | (a) 23R 4 (b) 13K 2
(c) 1 and 3 (d) 2 and'3 , (c) 13K 3 (d) 23R 3
} : ; s

@17 @



CIZILL
e R
AR - LA TR B
TS v ur i S LT
58. Match List - 1 with List -1l and seleC ) o, | -1 -1
from the code’given i / (e
correct answer = ! ( ﬂ@‘ﬂ ST I%%
the lists. ILH | W) m)
FifE  vList-I ” fsi:;te oaton | TR i
i gﬁ?ﬁf:l Far Territory) '1 A, g™ .
: Sanctuary) o dids pradesh il B. paeirad 5 %Fr; ™
A. Dachingam 1. Ma‘dhzl-?anr i C. FE &, T s
B. Keoladeo = & ain } p. Af@m Fad
C. Kanha ’ d | .
: 4. Jammu an E 4
EORS 4
Code : Pt '; (a) 2 , 1 3
A B C D ro ': (b) 4 :
e & b 7 e | o4 2 2
it i 1
(b) 4 2 :15 ? £ ; (d) 2 4 3
4 2 ;-".;“ i
@2 4 31 & 5 Wﬁﬁn—m/ﬁaﬂﬁgﬁmﬁ
.o pairs is/are NOT (:;r.ﬁﬂfa) (SrErd
59. Which of the folloi7ng P | e TR
tche ) g&ﬁ‘ﬁ
Cor;e:igz)ma 7 (Habitat) : da - ST
( A Kalahag'};l;)esert 2. Tt
1. E’n.1]:j . . No rthC}'}.'!.EC_anada 3. fmdfi
2' g;gmy - Congﬁ{a}sm 4 TR - qﬁzﬁqﬁmﬁm
' ira I
4. Masai West X e code | EEE 3 g T a =
Select the correct answer fmf?f _ ":[' £ =
given below : N = (a) IS 4 (b = 1 3 4
Code : (b) Only 1 )%ﬁ?{l,?aﬁ{s (d)'a:,‘clﬁ?;
(@) Only * d) Only 3 and 4 (c
: i ; EaC| R
Given below are two statemﬁﬁs’ sgfelrsas i a @ ) B (R) FE& TH ? 1@1@1 @
1 5 the
R). | .
Reas::;cgn) (A) : Food securify1s ne::sary 1 A off A § | i g?ﬂ [ F¢
Asser urplus food production year= i | FOT (R) : TEAH Teran st
even In S(R' . Starvation can still occ ¢ 1 BN F HR anefy ot &
Reason U9 ° 1" sistribution and 1ack ol | 3 7@ s I
due o VB L N
ibility- de .
E%E accests :;he eorrect answer from the €0 ‘ ! wd ¢
7 ’é Sele:; below : o | () (A) 7o B, 63 (R) @ lﬁ)ﬁ
(F ive : :
o Code is true. | (b) (&) 3 (R) Bt T ® A
) (A)is felse Dot () S an (R)is the | e w?
b) Both (A) and (R) ar€ “E/5 1 i (R 2 wd &, B
o) rect explanation of BLo o1 (o) W SNR) !
o (3) and (R) are truc, but (18 e 7 e 2
= ]22'( the correct explanation 0 ( ‘

(d) (A) is true, but (R) is false

i g’
— e ———
———

—

S ——
A — - i . . gp—
s et ol T R —

@18 @
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61.

62.

E-J

63.

e

e
= e

Match Lt = 1 Wlth List ~ I and select the

Eggect answer using the cqfizs given below the
List - I List— 0
(Disciple) (Gtx;'i:)

A. Kat’fir 1. Guru Nanak Dev

B. Amir 2. Swa.lm Ramananda
Khusrau

C. Surdas 3. Nizamuddin Auliya

D. Mardana 4. Vallabhacharya

Code : P

A B Cc p b

@3 2 1 a4 ,’ .

b2 3 1 4 ° .f

(c) 3 2 49 1 A}

@2 3 4 1 e

Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).

Assertxon (A) : Public Interest Litigation in
Incha is essential for the f—ule of law.
Reason (R) : Public Interest Litigation
provides effective access of J ust:lce to socially
and economically weakensecuons

Select the correct answert-from the code
given below :

Code :

(a) (A) is false, but (R) is true

(b) Both (A) and (R) are true and (R) is the
correct explanation of [A)

Both (A) and (R) are trp.c, but (R) is
not the correct expla.na on of (A)

(A) is true, but (R) is false

A
Arrange the following everits in correct

chronological order and select the correct
answer from the code given below.

. Battle of Kannauj

. Battle of Daurah M)

3. Battle of Samugarh I

4, Battle of Chausa <8

(©

(d)

'

el

Code : '_fi
(@) 4,2,1,3 (b) 2 4 1,3
(€) 2,4,3,1 (d)4231

i i A i i b

|
g
L
l
i
!
{
i
{
i
4
{
|
{
{
i
i
i
i
i
!
i
i

e M i e e it . . g e AR . - e S S S i - S AR St A, R i M

——

61.

62.

w?_@

63.

CIZU-I._23

?Eﬁ—laﬁq?ﬁ nﬂgﬁ‘%ﬁﬁmw;ﬁm%
TR R e e o v @A IR |

T -1 g -1

(forsm) (%)
A, Tt 1_'3%1!7{3?'&3
B. sofRged 2. @ THER
C. Y&EH 3. A aiifern
D. HgHT 4. g
%Re: )

A B~ C D
@3 2 1 4
(b) 2 3 1 4
(c) 3 2 4 1
(d) 2 3 4 1

M Q) Fom Ry e €, KA o =1 afimem (4)
o1 G H HAV (R) F TR |

aftrerem (A) : A T SHTEd FTTRIHT HIF F AEA
& fore atawEs 2 1

FRUT (R) : SHTEa Frirest w1 3R anfifs w9
 FHAS T Y A T TS TE FGH el

21

A fo e e @ T I IR ;

|l

(a) (A) T B, fohg (R) W1 R

(b) (A) 3 (R) 3T 7 & 3l (R), (A) Y T
T ST 8

(c) (A) 3 (R) a1 wdt &, fFg (R), (A) T &
SqTEAT Tl AT 2

(d) (A) T B, Frg (R) eTa B

Preferfiaa wematl ) o FeEFIHER A |
=R Hfe aen A= oy T Fe | 7 W
! gAT |

1. F H g5
2. I8 1 Ig
3. WG 1 Ig
4, =4 w1 Ig
He |
(a) 4,2,1,3
) 2,4,3,1

(b) 2,4,1,3
(d) 4,2,3,1



S T PAERIREE T W T e o
64, Arrange the following States of India in the 64 * 3 wafem el Sy
& 3 \ l q-{ sn’aa ﬁq *{ﬁﬂ'{l ‘am Y %
scending order on the basis of their area 1 A T ﬂﬁ’l | b féq-.
and select the correct answer fré'iﬁ the code l ®e &
Eiven below. ;‘(; 1. g
1. Haryana € 2. femrea ST
[ 2. Himachal Pradesh D 3, 9@

o

@R—% 3. Punjab &

y 1, 4,2
(@) 3,1,4,2 :
(b) 1,3, 4,2 (b) 1-3r;=i
€ 1,3,2,4 (T © 1,32
d) 3,1,2,4 n) d 31,24

(] .
) g5, o 9 R % wal , Pefee
-/ o TR/ ?

Q
0
=N
(4]
®
w

65. With reference to hydroe]ectﬁciﬁ};m North

India, which of the following statements
is/are correct ? e lmgﬂﬁmﬁgaﬁmm
1. There are huge possibilities of
hydroelectricity in the Himalayan 0. el I T 3 FER TW ap
= rEegion- . 78t = T FiTH Feh A R
. Eastern Uttar Pradesh and Bihar e
cannot utilise this potenﬁalfp;%cause <61 ¥ 3 70
the Himalayas situated to their North 2 feg M He ¥ v W g
lies in boundary of Nepal. [~
Select the correct answer from :tl"n‘el code He:
given below : - (a) 7 N BE sz‘ )
Code :
(a) Neither 1 nor 2 (b) o 1
(b) Only 1 (c) Faat 2
(c) Only 2 .
(d) Both 1 and 2 " d) 1 3it 2 2Fi

by {
)l |
66. With reference to Tsotopes’, wh;ii:h of the | 66. et (TeERn) ¥ o |, B
following statements is/are cox?‘fegt ? 1 Fr-m /A T T 2R 7
1. Atoms with identical atomic numbers | e , .
but different atomic mass numbers | 5 Y] ShAh febeg T
are known as isotopes. i e QUL <hl AR HEd
i 2. M, sRfem aiv Rfem #©

2. Protium, Deuterium and Tritium are

isotopes of carbon. - AR | |

Eﬁ,@ Sf:lect the cc:rrect answer from ;the code E El' OES e R
xby, given below : & | B e
Ei cote: S e

(a) Neither 1 nor 2 ! 1782

(b) Only 1 " i (b) e 1

(c) Only 2 r:‘l’"] | lc) %h'ﬂﬁ 2

(d) Both 1 and 2 | (@) 1 3k 2 3

<

——



related to Indus Valley civilization are
situated in present day Uttar Pradesh ?
1. Mandi  Fi

2. Rakhigarhi

3. Hulas i

Select the correct answer from-the code
given below : 3

Cr
L

Code : o
(a{ Only 3 (b) Only 1
(c) 1 and 2 (d) 1 and 3

e e e i — i — —— - ——— — i o e s i ot

@21@

a2 CIZU-1 - 33
“=- Match List — I with List — Il and choose | 67. WSl — 1 geh _ i@ gafera HIo1C 3 g
the correct, answer using the code given i F g ﬁ'q TTq, HE <h1 T el I ﬁﬁm |
below the lists, ) i B -1 TR -1
List -1 List - II R ; - N
(Committees (Chairman of | Bl (dfdam g (wferferedi <5 aroam)
of Constituent Committees) : afifat) 3
Assembly) Iff;;: i A. effg afem aff 1. 31. T 9Eg
A. Union Constitution 1. Dr.-Rajendra | 2.3, . Fyerh
Committee Prasad } B. wiskn frm wfifar < &
B. Rules of Procedure 2.J. B. \ C. urey wfyfa 3.3l =l AR
Comumittee Kripalani : I
C. Drafting Committee 3.Dr. B. R.
Ambedkar | D. wiifrs aifrr 4. SETEE 45
D. Fundamental Rights 4. Jaig)éharlal i Ig-affa
Sub-committee Nehru | He:
Code : e : A @ & D
& =2 & D 5 ' @1 4 3 2
(a) 1 4 3 2 E‘?’T'j i (b) 1 0 3 4
(b) 1 2 3 4 Pty : (©) 2 1 3 £
2 1 3 4 @4 1 3 2
lyaliegih Prafafaa § O SE-91/3 U
68. With reference to ‘earthworms’, which of the 68. -:’é?%/g; :slz%f 1
following statements is/are correct ? ¢ ]
1. Earthworms improves soil fertility and 1. 9g frgdt ﬁ_:ﬁfl‘c'ﬂ - wg@ & o feami
are known as farmer’s friends. FRmHeqd oH I E |
2. Earthworm has two pair clt'J,.j“ezan.rtsc.1 o %gq F & it g3 TR
bl e . - .
FEE Sf:lect the co.rrect answer fromf.qj!‘.t;e co H3 Re T o & gl IW gﬁq :
3+ given below : t?.';“l e
= ?c),d]: :'th 1 nor 2 (b) Only 1'1“:':1 () 3@ 17E 2 (b) %ﬁ;{l re.
a) Neither 2 i 5
(c) Only 2 (d) Both 1 and 2 (c) Wheret 2 (d) N
; ¢ ar % d frafafaa d @ -4
69. With reference to ‘Atal Tunnel’ which of the 69. ‘ated gaT % Ged H /
following statements is/are correct ? FUA qE '%/ 27 )
1. This tunnel is the world’s longest 1. =g gor faea 6 wad ol [T gt;f 21
highway tunnel. i —_: . . £ R 9=
2. This tunnel is built in the ?m‘PanJa.l 2. ﬁgﬁ"' fewTer™ el F TS
range of Himalayas. s . -
Select t%e correct answer from-the code [=] _'E] 9 feu T FT | T W A :
given below : :,:] O] T
e 2 (b) Only 1;“"' (@ FM1aA 2 (b) a1
Neither 1 nor L s s
((Z'} Oilly 2 (d) Both 1 and 2 (c) Haet 2 (d) 1 3K 23l
70. Which of the following archaeological sites 70. oy ordt e A gt Feafafea qraTfeaeh

A A P IS ISR weH A R g 7
1. "St

2. GG

3. g™

M fig e g & T I AT

e
*haet 3 (b) et 1

(a)
(c) 132 (d) 13R3

e e s s s o S A sl



71' Match LlSt -1 with Llst
correct answer using th
EE the llstsLi

st-1
E]i‘& (Padmavibhushan
Fields 2025)

. "

the

- Il and select

(&L
List — II
(Awa?’d’ee 2025)
Ad

A. Trade and 1. Shri >
Industry Lakshininarayana
Subramaniam
B. Literature and 2. Shri Osamu
Education Suzukj
C. Medicine 3. ShriM, T
Vasudt:van Nair
D. Art 4, Shr D “Nageshwar
Reddy-)
Code : LA
A B C D -
@2 3 4 1
(b) 3 2 4 1
g3 2 1 4
@2 3 1 4 .
R
72. Which of the following events togkplace in the
year 19117 (n2
1. Partition of Bengal revokéd?
2. Transfer of capital from Calclitta to Delhi
3. Lucknow pact between Corigress and
Muslim League
Select the correct answer from the code
given below :
Code :
(a) Only 3 (b) Onlyi 1-
(c) 1and?2 (d) 2 a.nd«3
73. Match List — I with List - I and?'choose the
correct answer using the code gwen below
the lists. —
List -1 List - I
(Finance (Chairman)
Commission)
A. Eleventh 1. Dr. C. Rangarajan
B. Twelfth 2. Dr. Y. Vi_Reddy
C. Thirteenth 3. Prof. AL M. Khusro
IEIQE D. Fourteenth 4, Dr. Vijéﬂ'){;L. Kelkar
<2 Code : sig
ik A B C D o
@2 3 4 1 - o
()1 3 2 4
3 1 4 2
@3 2 1 4
@

—

e code.§ gwen below |

e R ———— B

1‘ ?'1 #lﬁ@ HHW e, N
i aﬂammwhﬁwwl fal
! - 1 T~
! tﬁ"‘%"‘!\“":ﬂT %3;:25) (et 2025
: A, SR 1. S,
| gy
i 3. # ;
e Tt
i p. el 4. ﬁ@tmﬁm@
_—
| A B € D

(b) 3 2 4 1

@2 3 1 4

7. Craffiea ¥ & A-A TN A 1911 ok
1. SmE H1 e © S
o T H1 Hoed ¥ ek oiad
3. wig qu g & & 9 e W

¥ fg T F2 A T I IR :

%!

(a) Fa 3 (b) & 1
: (c) 132 (d) 23R 3
|
| 73 et - 1 - 11 A ghfe P e
i %ﬁ'—ﬁ%ﬁqmgwmmmﬁmgﬁ‘ll
i@% a1
?E& (ﬁﬁ'amﬁ“) (aveae)
: A. TEal 1. & @, T
| B. g 2 ol 9. 9.9
i C. et 3. M. T WG
! D. <iggal 4. . foem @ F€
! e
| A B C D
! @2 3 4 1
! 1 3 2 4
ll ©3 1 4 2
_j'_,._““(‘i)f 2 1 4 »
22 @ T T
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i
}4_ which of the following_’l;;o‘é;;;h:gs—/_ } 74. “ﬁn%f@a._“_-'ﬁgg%tET?gaﬂﬁﬁm— /?ﬁ‘-ﬂ -’—-W__.,.

Schemes is/are NOT included in meeting . . =q
- : i e Hifa ezt W o i
géenggectwes of National Ecltgclation Policy : T E 7 2020~
1. ULLAS I } 1. Ieemd
' 2. DIKSHA :;_-_u{ i 2. da
i e Programme | 3. v Fmior i
Select the correct i ! : .
R Abela ct answer frc:f?_;the code : 3 fag o g2 D TE TN M :
Code : i e
(a) Only 3 (b) Only 1 : (a) Had 3 (b) a;a:ﬂtl T 1
(c) 1and 2 (d) 1and3 ! (c) 132 (d) 1313
ey I Y ~
-5, The Global Financial Stabil\ggy Report is | 75. AR fadia fer fayé Prerfafed % & foheh gr
released by which among the féliowing ? : St <l et 2 7
1. International Monetary Fund [ 1. sialsE ga HI
2. World Economic Forum "/~ ! 0. fage e TE
] £T :
Sse:l ‘ciofllaiB t f L::‘t] d S "
o = correct answer from the code - .
g?%giveubelowz A fog e e & T IR IAC:
BIH code : ®c:
(a) Only 3 (b) Only~1’ (a) e 3 (b) et 1
s b ]
(¢) 1and 2 (d) 2 add3 (c) 132 (d) 233 -
=6. Suez canal connects which offl}e following ? 76. W A& ﬁ’-‘*‘ﬁ"ﬁgﬁ 7§ fFg S 7 7 E’I‘
1. Atlantic Ocean s 1. el HEEIR
2. Red Sea — 2. T AR
3. Mediterranean Sea 3. WHY "
4. Indian Ocean : 4. fg= Ag@TR
Select the correct answer ﬁ'c;{p}the code 2 fou @ He T T8 I Eﬁ'ﬁ .
given below : -5 : w2
Code : (e ] 3
(@) 3and 4 () 1and2 ; (a) 3 3322 4 (b) 1 s 2
() 1and 3 (d) 2 and3 : (c) 13M 3 (d) 2 3 3
iJi t - - .
77. The Appiko Movement is associated with = 77, SAfoTehI srered frefataa 3§ ¥ e W ==
which of the following Indian States ? i 3 oefa /8 7
i .
1. Uttarakhand : J—
2. Utte: Pradesh } o, IR
3. K n
4 K::'n:taka o I 3
. [l i | i
Select the correct answer fromthe code : 0 e
given below : f“’)’ :%:ﬂ%ﬁqwﬁﬁaﬁmgﬁq
Code : o) | EIlA e
(a) Only 4 (b) Onlyl; | (a) I 4 (b) < 1
(c) 1 and 2 (d) 3 and 4 | () 132 (@) 334

e s . i e s R e e



T

78,

79.

80.

(=1

=

81.

(=17 [=]

Iron dome missile defence system belongs to
Which of the following countries ?

1. France ]
2. United States of America ™)
3. Israel (o
Select the correct answer from the code
given below : L

i

Code : -
(a) Only 3 (b) Only 1
(c) 1and?2 (d) 2 and 3

{5
With reference to lichens, which of the
following statements is/are ¢orrect ?
1. Lichens are very good indicators of
Pollution. o
2. Lichens grow well in polluted areas.
Select the correct answer from the code
given below : =
Code :
(2) Neither 1 nor 2 (b) Only 1
(c) Only 2 (d) Both 1 and 2
b %
E "l
Given below are two stateménts, one is
labelled as Assertion (A) andthe other as
Reason (R). (ot
[E] Assertion (A) : India has a{PéfrIiamentary
system of Government. -3“
"% Reason (R) : In India, the executive is
responsible to the legislature.
Select the correct answer from the code
given below : -
Code : ”':f
(@) (A) is false, but (R) is m&ﬁg
(b) Both (A) and (R) are true'and (R) is the
correct explanation of (&)
(c) Both (A) and (R) are trué;-but (R) is
not the correct explanation of (A)
(d) (A) is true, but (R) is falsé

With reference to ‘Carrying Capacity of
Environment’, which of the following
statements is/are correct ?

1. The rate of resource extraction should
remain above the rate of resource
generation. Cey

2. Generation of waste should remain within
the absorption capacity of environment.

Select the correct answer from the code
given below :
Code :

(a) Neither 1 nor2 (b) Only 1

(c) Only 2 {d) Both 1 and 2

| S

@24 @

e
e S S

L i i s
!
|
!
f

CIZU%1
-_F‘__'__T__._.-—.--*--—*—-_.._.___h_“ \Z
~ ~ ere S ETEE T wuneh 1
8 TaR ﬁ%%\% :
1. % . &
2. WIH T IHH
3. FAOE
;ﬂaﬁqm@ﬁ‘ﬂﬁw?\{ﬁm:
w3 (0) et |
[C) 1 3?!'{ 2 (d} 2 3ﬁ( 3

79, mam%ézﬁﬁﬁmﬁwﬁgaﬁmw
/e %

1. FEHA G TG I Wi
2. ETEHA TGN & 4 I g
ﬁﬁf{m?ﬁ{aﬁmﬁﬁq:

C A
(@ AM1IH 2 (b) Faw )
(d) 1 3R 23R

(c) Fad 2
mm

)
B

#re 3 wer feg e B, ol w9y
T GEL I HRVT (R) el T R |
M(A):Wﬁmmm%!
T (R) : WA H hrEUoR srewnt 5y
IR Bt 7
@%ﬁmm@ﬁa@mgﬁu:

Bk Fe:

() (A) 7o 3, frg (R) v R

(b) (A) 3K (R) ST wEl € 3R (R), (A)PE
SRAT Hal B

(©) (&) 3 (R) M1 = %, frg (R), (4197
AT A€ HLaT B

(d) (A) @& 7, g (R) 7@ 2

TR ) T amar & geot & Pt
-1/ Ho T R/E 7 .
1. HEne frsmdor & @, Gamm g A8

80.

0o
=

SE R
2. IR w1 Ieqren, iR § IEET
q9 6 i) @ R |
ﬁﬁ@“ﬁ@ﬁaﬁm@ﬁu:
He:
@AM 19d 2 (p) Fwl
(c) Saw 2 (@ 132



)
G A

List - I List — II
(State) (Highest Peak)
A. Tamil Nadu 1. Dhupgarh
B. Rajasthan 2. Déddabetta
C. Nagaland 8. Ggm Shikhar
D. Madhya 4, Saramati
Pradesh ot
Code : gy
A B C D e
@ 3 2 4 1
M2 3 4 1
g2 3 1 4
@3 2 1 4 5 :
84. Given below are two statements, one is labelled {
as Assertion (A) and the oth’é:}':;hs Reason (R). |
Assertion (A) : Babur wroté. Tuzk-e-Babri in |
Chagatai Turki. j i
Reason (R) : Turki was the ‘official language :
of the Mughal Court. :
Select the correct answer from the code given :
below : g |
Code : by :
() (A)is false, but (R) is true ;
(b) Both (A) and (R) are true'and (R) is the |
correct explanation of (A): :
(c) Both (A) and (R) are true, but (R) is ,
not the correct explanation of (A) i
(d) (A) is true, but (R) is false '
e e e

the lists.

ist — I oy
(Ilé:ler) .(I_-ggt -1
. Mahendravern Dynasty)

First an. 1 R‘?tshtrakuta

B. Kadungon 5 L

C. Amoghavarshg ) g?ll?va
First - Chola

D. Rajaraja First

Code : 4. Pandya
A B C D B

(a] 2 4 1 3 57

4 2 1 3

@4 2 3 1 (A%

d2 4 3 1 h

Match List — I with List - Ilqand select the
correct answer from the code gi
i e given below

Y
|
]
i
i
|
|
|
|
|
i
]
{
|
|
|
|
!
|
!
i
!
{
I
I
i
|

82.

83.

84,

=]
x=
=]

CIZU-1- 23

T - _;5-%'— 11 & gAfea BRI T Ef;’-"

T -1 gl - 11
(vImereR) (e
A. Tgsada yuw 1. TgHe
B. g o, qeed
C. amieead gy 3, =e
D. T9Ts wom 4. 9isT
&he :
A B C D
@2 4 1 3
b)4 2 1 3
©4 2 3 1
@2 4 3 1
qft - 19 e - 11 @ ghfw i Fon g
¥ Y fq g e B wE I I
T -1 = -1
(=) (w=r@ 3=h <)
A. dfierg 1. gITE
B. s 2. BgE
C. Treis 3. 7@ .
D. WeA Sedl 4. Trmfa 40|
T e
A B C D
@3 2 4 1
b)2 3 4 1
©02 3 1 4
@3 2 1 4

A2 @ wom oy o ¥, Rl w @ aAfEaa (A)
T GER < T (R) FET TR |

e (A) : STeR 3 TaTs gl A gas-u-ared
o |

U (R) : Gehl TTET GUER <6l Towren oAt |

9 feu o =2 § wE IW R

T-F.

(a) (A)TeE B, fFg (R) & @

(b) (A) 3R (R) Qi et & 3T (R), (A) 7 &
AT BT &

(© (A) 3 (R) &l 7 &, T (R), (A) T TR
e T8 N 8

(d) (A) & 2, feeg (R) Terd B



B

86.

e

240

%E@

T B e e i

85. Wlth reference to Llfestyle for the
Environment {LiFE), which of the

following statements is/are correct ?

2. Its idea was proposed at the COP 25 in

Madrid, Spain.

Select the correct answer from the code

given below :

Code :
(&) Neither 1 nor 2 (b) Only 1
(c) Only 2 (d) Both 1 and 2

Reason (R).
|'_i‘_| Assertion (A) :

and inter-relation between them.

Reason (R) : The National Integration
Council was constituted in 1961 on the

Principle of ‘Unity in Dwersxty‘

Select the correct answer from the code

given below : o0
Code : ‘I'?:
(a) (A) is false, but (R) is true-,

(b) Both (A) and (R) are true and (R) is the

correct explanation of (A)

(c) Both (A) and (R) are true, but (R) is

not the correct explanation of (A)

(d) (A) is true, but (R) is fa.lse J
o F

Consider the following and arra.nge them in

correct chronological order.;
1. Food for work programnf"‘lé?
2.

3. Training for Rural Youth for Self
Employment (TRYSEM)

4. Drought Prone Area Programme

Select the correct answer frorn the code

given below :
Code : f:" :
(a) 2,4, 1,3 (b) 4,2,7, 3
c) 4,2,3,1 (d) 2,4,3,1

= R

Given below are two statements one is
labelled as Assertion (A) and the other as

The concept of National
Integration involves political, economic,
social, cultural and psychological dimensions

Community DevclopmenE .Programme

e

e e _._.,._.._._3
vs]
o

40
i

87.

@,26@

e it

Wﬁmzw (El;[gq;)
ﬁﬂﬁﬁaaﬁﬁﬁq—mmwm.%;“

% @@zozzﬁmﬁm ™y

7. gg'a:ﬁ:lﬂ'r(ﬁﬁ&z@ "Faﬁ‘ﬁaqq%\
e FRET T e

;ﬂ%ﬁ{t{mﬁammﬁ:

g.:[?ﬁ 1982
(C]%HE’TQ

(b) e
() 1 3k 235

an ER AT (R FATE |
sifire (A) : “@“W@rmqmq
qerifs, oM, |, %
q;ﬁa—ﬂﬁq;mmmﬁ%ﬁaamf@%
aferfea 2 |

HIT (R) : T THAT TR 1 T 1963
‘37T A AT %%@a%mmﬁ?

#r fow ¢ Fe & TR I g

F2:

(a) (&) TTeTd B, g (R) &t

(b) (A) 3R (R) 31 Wt & 3l (R), (4) 913
A KA 8

(c) (&) 3 (R) A w1 &, foheg (R), %
ST TE il B

(@) (A) & 2, foFg (R) o 2

FrferRea w feem Hiftre v 3% od v

1§ SafRa Hifv |

1. M % ST TS FHTHA

2. arEifye faera s

3. W IR % fore ymfior et & 0
(Zrsm)

4. q@ Yo &3 FRiwn

T 18 g e & vl ww o

E T8
(@) 2,4,1,3

(€ 4,2, 3,1

(b) 4,2, 1,3
(d) 2,431

A it o M s s e et el T



lijﬁ
- o i f:‘fﬁhe fo . o e
-8- W'hlch llowll'lg

i Groundwater Quali R
j. Central Pollutigy o €Port 2024 ?

O -
2. Central Water ¢, Ntrol'Board

mm1$sic'; b
. Central Groy i

ok E given below : Answer ﬁ-o;iil the code
5%% Code :
(a) Only 3 (b) Brityy
(c) 1 and 2 @ 2 kel
go. With reference to ‘oz0ne layer ‘;}hich of the

from the sun,

2. Ozone depletion K ol
the chloroﬂuorocaiggsn linked to

Select the correct answ
Srven below €r from the code

Code :
(a) Neither 1 nor 2
(c) Only 2

P
1

(b) Onlyd—l}.
(d) Both l-and 2

. ‘_:‘_L‘_:i

As per the India State of Forest Report 2023,

which of the following distrists in Uttar

Pradesh had forest over moréthan 20% of
their total area ?

1. Bahraich
‘2. Chandauli
3. Shravasti

“‘L,.:,i i
Select the correct answer fro:fnj.--‘ghe code
given below : "

90.

i:}:j
Code : {hd
(a) Only 3 (b) Only(t
(c) 1and?2 (d) 2 anc;l;@:

91. Consider the following events and arrange

them in correct chronological order.

1. Acquisition of Awadh by the British
2. Ilbert Bill Controversy
3. Indigo Revolt ¢ Tl
4. Second Anglo-Afghan War -,

Select the correct answer from the code

i

given below : (2
Code : f{j
(@ 3,1,2,4 (b 1,3,24
(© 1,3,4,2 (d) 3,1,42

e

—-—— s i - p—
s e et S g et o ot S

l
i
i
|
|
1
[
i
|
i
|
;
1
|
|
|
i
|
i
I
i
|
|

! — s | e S i s -

|

;
i
i
r
i_
i
i
:
{
t
{
|
| 22
i
i
i
a
i
|
H
i
|
|
|

CIZU-1-23
PPN ¥ e p——"pe T
| 2024 ¥R 6 1§ 7
1. F yegu frmm =S
2. ¥ s A
3. F3i yuw a9 _—
RARCE &R R e
%e o E%
(a) e 3 (b) e 1
() 13k 2 (d) 23R 3

89. 'INIM wa' ¥ wed § Fr=fofaa § ¥ F-m/F

FU T /8 7

1. 305 wa geeht 61 was B ol @ I A
T fyfRor & "= R

2. 3 &R0 I TGRSO & FIeT 7 R |

N g e e & w3 ghc

- T

@ ad1ad2

(c) e 2

(b) e 1
(d) 132 eH

a7 feafa fead 2023 & 3gER, S uew $
Trafefaa # & e faedl 3 15 50 Sawa &
20% 8 Aftr W R ?

1. sgt=

2. Wl

3. yEE

ﬁﬁﬂmﬁi‘mﬁrwqﬁqz

EE&.
(a) %< 3

(c) 132

90.

(b) shaa 1
(d) 23k 3

91. Trfefed semanl W femm Hifs @on = &
FITHHIER 79§ Safem fifvm |
[B] 1. 300 g ar@y w1 ftnrew
c& 2. Towe foat foarg
3. = foe
4. fafa Tell-areTH g
fr= far T ge @ v sw g
e
(a) 3,1, 2,4
() 1,3,4,2

of

=]

@) 1,3,2, 4
(d) 3,1,4,2

e et b e e e ——————

@ 27 @



W
(a) All1,2and 3 (b) Only 1 ’
(c) Only 1and2  (d) Only 2 é‘nd 3

|JJ
I

() ¥ 132 (g a"‘*ﬂzaﬂt
93. ﬁ:ﬂ%—rﬁaﬁﬁ%aﬁq-m/@rgzqmm

!

B
o - ..___.,..‘.---w--\--—“--—--—--_.__“_h-—-“ \1
ée;a o T R R B
92. Which of the following chsmcts of It 39X TSI 6 Had TH Ay s -y
Uttar Pradesh shares its bounda.ty with | AT FAR/E 2 o
only one other district of Uttar; Pradesh 7 |
{0 H 1
1. Lalitpur '-_.-'-_-, : eTreTge
2. Saharanpur Cr : 2. HERAYT
3. Sonbhadra (D : 3. gHAYg
%E Select the correct answer from the code : = oM w2 3 iR T
given below : ; 5z
Code :
y : (a) @ft 1, 23R 3 (b) ¥ |
i
|
t
!
i
i
i

93. Which of the following pairs is /are correctly
matched ? (- Sk (T
(Railway Zone) (Headquarter) _
1. Northern Railway — New Delhi 1. I W st
2. North Eastern . -  Gorakhpur 2. IR & & - Tﬁ@ﬂ'(
Railway : .
3. South Eastern - i@_ﬁttack 3. MG ™R - ey
Railway -—" ¢
Select the correct answer from the code fia faw T R # T I RS
given below : i Fe:
Code : ;: ¥ ) .
. (a) Only 3 (b) Only 1.7 (a) e 3 (b) ae 1
(c) Onlyl1and2 (d) Only 2 and 3 € FT 132 (d) 5w 2904
94. Given below are two statements, one is 94. 9§ FeF few Mo 3, o A =R e
1
Ef E Ribelled;j Assertion (A) and the other as AT G H SR (R) FgT T & |
ason ‘ ;J‘: ! R P 5 ._
Assertion (A) : Investment in human capital ; R (A) : WS ti:_'ﬂ o faw & i de
foretan |

yields returns in the future. )

_1
Reason (R) : Education and ’health make { SR (R) : fenm sk s A # o

people more productive. IUEH T 8 |

Select the correct answer from the code T few mo F2 & O I g ;
given below : B .

Code : ol e

(@) (A) e R, g (R) v 2

(b) Both (4) and (R) are true and (R) s the (b) (4) 3k (R) Bt Wt # sk (R), (A)F

correct explanation of (4) ¢ ,; SARAT HTar 3
(c) Both (A) and (R) are true, :but (R) is (c) (A) 3tk (R) @1 &&t 2, 5 (R) (Alﬁ
not the correct explanation of (A) ,
SRS TEF et

|

a

i

{

1

i

I

i s

(a) (A) is false, but (R) is true"” !
|

|

i

:

|

[

{

(d) (A) is true, but (R) is false
- (d) (AJHE‘T% fo5g (R) et 2

= e
——— T — "
28 @ i A it e i e i it
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e ‘J Oin
e

#
4
,E‘fﬁ?- "'V';t-}; reference to tn e
95. arliament’, which of th f Sit
statemPIiltsllgf € Correct f?o .
k Arc?ige rov?dof the Constitytioh:-
India provides fq,. the Jo; 2 Hon of
Parliament, Olnt Sitting of
2. A Joint Sitting o Parliamens ¢
be called to Pass g Con -entfn?-l}’
Am&ndment Bill. Stitution!
elect the correct CFy
gi\!en below : answer from thQ'ZSEOCle
Code :
(a) Neither 1 nor 9

(c) Both 1 and 2

ting of
Owing

(b) Only 1
(d) Ony 5

with reference tg World ;_
1. The World Bgpj

96

Headquarters of Internat;
Fund and Worlg gna&;llilcon
at WaShlng‘ton
respectively.
Select the correct answe
given below :

Code :

(a) Neither 1 nor 2

(b) Only 1

{c) Only 2

(d) Both 1 and 2

al Monetary

are located
D.C. and New York

§
T from thecode
o -

i

@EE
£

-““H.re!-

97. Match List — I with List - Il and choose the
correct answer using the code given below
the lists. ¢ 5

List — I List= II
(Lok Sabha) (Lok Sabha
Speaker)
A. 11" Lok Sabha 1. Om Birla
B. 12th Lok Sabha 2. P, A’ Sangma
C. 14th Lok Sabha 3. Somnath
Chatterjee
D. 17t Lok Sabha 4. G.M.C. Balyogi
Code : °}"‘~:..'TJ
A B C D e
4 2 3 1
b)2 3 4 1 G5
@2 4 3 1
b3 2 4 1 Co

)
|
i

CI1ZU-1- 23

——— e P e S o e e s

95. ‘e ) o daw % ged A FEEa § §
FH—w/Q o w2/ ? _
1. URy % why[ @1 306 109 T
T daw 1 W@ W12 |
2. wfyum weiew frdas B TR B F fig
HHE ) G Ag ARG b1 SN Fehell B |
A e g e @ vt s g
%2
(@) 3@ 139@ 2
(c) 1 3R 2 2

96. T 9% 3iv siatisdia qm 9 & Fef F
Frafefea & § S-w/a s T /8 ¢
1. o ¥ ofk s T3 F9 H www
T 1Y F) 73 37Kk 32 AR0E TY A e g8
el a1 S R |
2. I qo1 iy o fawa 3 1 geen
A T @LHl. 3R =ETh d fRE R

=] % [=]
ﬁ%’ﬁ%ﬁquﬁaﬁm%ﬁm
Ofz Fe:
(@) 18 2
(b) %t 1
(c) Saet 2
(d) 1 3k 2 21
97. T~ 1 g - 11 & i i iR e
& A R g w1 @ W wA 3w P |
Tl -1 T - 10
(S |m) (o7 | vemer)
i A lldiaw a1, 3iw fagen
E B. 12Ffid@ms o 2. dtu, @
fl‘.il' m C 1fiFAHE TN 3. Oy g
| Bfg D- 17Hid® w4, hoema. aweriwh
i ’ w:
i A B C D
1 @4 2 3 1
} k)2 3 4 1
} (c) 2 4 3 1
= 2 4 1



99.

100.

=

[=]7% (=]

which of the following ? . F‘_"-}
1. Ministry of Corporate Affairs '.J'[
2. Ministry of Rural Development i33'l“3,
3. Ministry of Finance 1.._,-\,,

Select the correct answer {rom the ¢

L2
ode
given below : iy

Code :

(a) Only 3

(b) Only 1

() 1and 2 )

(d) 2 and 3 Sy
"

Whicl'_l of the following two are the n:T:'atiJor

constituent of Bio-gag ? £

1. Methane Py

2. Butane o

3. Carbon dioxide
4. Carbon monoxide:

Select the correct answ

. er from the code
given below : [

Code : E‘f:i
(@) 3 and 4 L:
(b) 1 and 2 j:”
(c) 1 and 3 o
(d) 2 and 3

Who among the following Indian novelists

and journalists is/are part of the five
member jury for the 2026

International
Booker Prize ? =k
1. Natasha Brown n:‘
2. Kiran Desai it
3. Nilanjana S. Roy &
4. Rajni Chauhan

Select the correct answer from the code
given below :

.
Code : ';
(@) 3 and 4 -
(b) Only 1 ”
(c) 2 and 3 5
(d) Only 3

=

|
!
1
i
{
i
{
t
i
!
|
{
1
|
i
|
t
{
!
|
{
i
t
|
|
|
SR -
3

99, mﬁﬁﬁqa,a@ﬂq%

100.

e :

(a) a3
(b) Faet 1
(€) 132
(d) 23k 3

AW e §
1. yas

2. A
3. HEA SEITIERS
4. ST WIS

A= e T 52 @ vl T g
w.

(a) 334
(b) 13k 2
(c) 133
(d) 233

ﬁq%rﬁgaﬁﬁﬂww—cﬁamaﬂwa

2026%%@3%%‘@%%
w1 fem 2/ 0

1. W sew

2. foreor 2omd

3. e w. oy

4. Wt =tgm

= R T e @ W e g
%<

(a) 33k 4

(b) et 1

(c) 23 3

(d) a1 3



e %ﬂm a g@ﬂ:'
) "."__‘._,_.._...._._-_._“,_‘_‘____"___- e e P P R | e ""—'—""'—"T'F"'
fﬁ .~ mong the following resigned from the ! 101, Frofafga @ @ ﬁﬁt‘g Mﬂﬁ
’/_/ V".“:roy’s Executive Council, saddened by | E[E] gEh Brert arEE
,-01- yic Jallianwala Bagh Massacre ?. ;- : !‘g“rE I‘qf 3 fo o 7
e ] : .
t11’. Chettu'rPSankecllran Nair ;r_.] 1 . 7
5 (shwari Prasa = 5 AR
. Muhamrnacl Shafi = l ; $vad gmcﬁma
; Iqbal Narain Gurtu (; 11 . qEHe TR,
o the correct answer from the code | 4 FE 5 gt TR gﬁ'@ :
1ect 3
" pelow : : . 1
vde: : @ ‘\ [b) W ;
c‘; only 4 (b) Only1 [ ! (a) W@( 4 @ 3 3
@ and 3 (d) 3 and 4 & | () 23R 3 oy e s
c o | 10n. Fufan B FA-E/E
.ch of the following districts is/are i 102. o 33 1
2. W5 the Devipatan Division inl-~ ot e ew
%ttaf Pradesh ? i" . 1. st
g BBt ' 2. T
B B 3. TERAL _
53é1e?:t the correct answer from the code A Rom g A ad
given below : t'l ! . 5 . .
Code : 3 () et o 3T 3
(@) Only 3 ) Guly L b Q Few a2 @ F
() Only 1 and 2 (d) Only 2 anc? 3 =
i e e | 103, e A freed I 3“'% Eiﬁ[ % ad
5. Consider the following Election ggfo:m o1 3= e TS A R ST |
103. ° . d arrange them in correc ;
dia an [ ) i
:;nhrlgn::ulogical order starting from earliest . FHTOTFAER ‘o'ﬂa'i:a
to the last. , B EIEE . wqr Wit TE=TH
1. Voters photo ifleﬂﬁt)' CE.'I & % 0. R Sifen wefi= i
2. lectronic VOUTE MR 3. s AR A ST 2
3. Voter verifiable paper audit traﬂ i .
4. NOTA -s;tj;_': i . & w8 T
Select the correct answer from ﬂ?P.TICOdB 1 9 e TR gfiT
ghve Belon % . b) 2, 1,43
Code : ~ | (@ 1,2,4,3 ’
2,1,4,9° 41,234
(a) 1, 2: 4, 3 (b) y 2 3’ 4 : (C) 2, 1, 3’ 4 { ) y Sy
(© 2,1,3 4 @ 1,23 ; 104, A AT ¥ g § Fraffea & &
i ent " &
104, With reference t© Globe Evfrli‘ﬁgosntz}cements ]i 2T/ T TR /R 7
Faciliy, which of the [o10 N | | o e 1991 F g A | 2
i correct ? ) ¢ . yE |
I?{af:cewas established in 199&;(35(*21}8 i . Fad @ & Tgd el (z—fl:lt
2. Only the developed CONPTET" 4 4 frg e 3 W I I
d rs to 1t. R |
03D Selec?lzﬁe correct answer from tt}.S_FO € = |
E% given below : o) li (a) A a1 2 (b) aﬂ;_(l ?‘;Fh
" Code : 1 5
i b) Onlyl l c) a2 (d) L
a g‘;‘fyher 1w ((cﬁ pothiland2 | O 7CT e



| Clzy. 1.
.‘ ) — i —
’3% by ;0:5 @—I@H‘iﬁg”@{%%é )
;Oq- Maict L"'-i‘ | wnh Lint - ll nnd select the | = feu 7T Fe | wH I 3% ' m%nq
B m?-r:\:: s:nnwm from the code given helow l 'Fﬁff— I . .
D the et List 1. ' (et e ) (‘ﬁ?-”mn};
=y T | 8t —! _' | )
= @ List (Area of Gonl) I A TET ] 1. T -
(Sustainable : | bl
Development Goals) (T l ' N y
A. Gonl 1 1. Clean wdler anc | | 2. Wﬁ
A sanitation | C. a1 4 B, 5 5 Aoy
B. Gonl 3 2. Quality education | e m‘r‘ﬂhﬂ
e in | :
- Gpal 4 Y om0 p s b g,
D. G 4. Good henlth and | @7/ Feam
- Goal 6 | 2 .
Code : ' : A B C »p
A B C D p ! (@ 3 4 2 1
(a) 3 4 2 1 T i (b) 4 3 2 1
(b) 4 3 2 1 = (c) 4 3 1 2
(c) 4 3 1 2 d) 3 4 7 ”
d) 3 4 1 2
u 9 g gmam ,
106.  Global Wage Report 2024-25 was released | 106. ﬁﬂ%%lm i A A ey
by which of the following orgamsatnon ? 2024-25 ?
1. International Labour Orga.m,satlon 1. sdsda o graq
2. World Bank L n. fva &
3. International Bank for Reconstmchon _ . )
and Development o 3. aﬂﬁ@'ﬂ Tiﬁ'trh I fereprg F
Select the correct answer from the code f= fen m e ¥ TE IW I
given below T
Code : s
- 3 b) Had 1
(a) Only 3 (b) Only 1. l (a) weet (b) -
(c) 1 and 2 [d) 2 and3" ! (c) 1 3R 2 (d) 2 3R 3
" 1
107. March List - I with List - Il and c¢hoose L 107. qsﬁ - 11 g - 11 & gifera ifaw s g
the correct answer using the code given i F = feu T, e T F TR TN ﬂﬁﬂ{
.o Delow the lists. : | '{fﬁ 1 gR -1
EZE List — I List - T ! (=) ()
=% (Port) (State) 1 i .
A. Paradeep 1. Tamil Nadu 5 B' ““él 4 0 fh‘{?vlﬂ““”g
B. Tuticorin 2. Kerala | . qfa=iie S 9N
C. Kakinada 3. Odisha : C. HrhHTE 3. sfsm
D. Alappuzha 9. Andhra-‘Pradesh | D. etz 4, AT 97
Code : kg : ﬁz:
A B C D : A B C D
a3 1 4 2 : @3 1 4 2
1 3 4 2 \ b)1 3 4 2
g1 3 2 4 : 01 3 2 4
{d) 3 1 2 4 \ d) 3 1 2 4

@32 @



%
Z)ﬁ- ’W’hi"h of the foﬁ,;“;;u e
108 jjgnter than air ? EBassesis/are

{ I |

i Hydrogen chiorj 7o

2. gulfur dioxide de : ) |

\ Helium >
SeleCt the correct an '.;::3
givent below : _— from the coge
Code . :::'

3
(@) OnlY (b) On
I

(© 1 and 2 () 2 angS

ugwavalambini”, a wome
amme f 1 entre |
which of t%re%le North'Eaﬁ%;igeursmP
. w RATS
by R st ollowing Hﬁmém unched
1. Ministry of Skill Developiie es ?
Entrepreneurship Pment and
0. Ministry of Women Ca
Development and Child
3. Ministry of Micro, S o )
Enterprises mall’and Medium
gelect the correct answe
given below : r from the code

109

Code :
(a) ?nlyd?rz (b) Oniy!
(c) 1an (d) 2and3

LA
Arrange the following in chrofiological order
of their rule and select the coi;:fé‘ct answer
from the code given below. oA

4

110.

o
E]rq# 1. Bajirao I -
2. Balaji Bajirao

3. Balaji Vishwanath

4. Madhav Rao I S

Code : -:.'i'“"l

(a) 3,1,4,2 () 1,3:4 2

© 1,3,2,4 d 3,124
%)

i
e

languages is/are

Which of the following 2
ghth‘Schedulc of

NOT included in the Ei
Indian Constitution ?
1. Nepali
2. Dogri ,
3. Bodo :
4. Bhojpuri
E"El Select the correct a1t _
@i‘ given below : :ijt
Code : -
(a) Only 4

111.

o __J'
T
|:\L j
swer fromy the code

adn

————
—e— -
1 ieses o e e

e e i RS

i 108. ﬁ%ﬁﬁﬁ_ﬁﬁggﬂﬁﬁ%/ﬁ ?

|

1. TEgrm FANES
2. Go9R TRATGEES
3. Biferam
3 fo o & Wt I IO
e
(a) e 3
) 132

109. wEtw ¥ frg mfden
Prferfiae 3 & fra Faer €10
1. e R o e T
2. when wE are foreer HAH
3. ﬁm,agaﬂzmmﬁaw

ﬁ zia'_q uwa.a.fja-_ﬁ‘ '-,

j
I
|
i
|
!
i
i
|
i
i
l
|
l
|
i
I Q_raﬁmw%?
i

i

|

|

i

l

:ﬁ%ﬁqnqaaﬁq‘amgﬁm
e
(a) ¥ 3 (b) e 1
() 13K 2 () 233
110. Wﬁﬁw%wmﬁ
m@aﬁﬁqm:ﬁ%ﬁqmﬁzﬁa@m
_ u
BIEE 1 a1
EIE% 2, SRR SSE
RIS
| 4, yE T |
R
t (8 3,1,4,2 ) 1,3,4,2
'a () 1,3,2,4 (@ 3,1,2,4
!
i 111. ﬁﬂﬁiﬁﬂwﬁﬁﬁﬁq-ﬁmﬁaﬁmﬁ
} et g 3 e T R/E 7
‘; 1. aredt
‘i 2. Sl
f 3, 9l
*@ 4. gl
‘l 3 e e A I = A
i - .
; (a) F 4 (b) e 1
l () 13R2 (d) 334
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T e e ma —————

= _""'""'"’—--_...-_'_-_______- _._-________,,_---—"' '-'--_-‘--: ~ .E‘Jf o "ﬁq'wﬁ ‘ﬁ‘h" .
112, With reference to ‘Silver articleg’ which of | 112. =i& & Tl F & q;
the following statements jg Sl - | PE-T/a A TE /8 1

: . /are ¢ > -
1. Silver articles turn black éfi“:? I;;rt.‘?r?fe? 1. atd <t a%gy ' ¥ S A TH W s
" It;nﬁe when edxposed to air, (-, " g aTe Fet B A 8 |
. appens due to coating pf.s; SFem 3 SO By 2
Sulohide, g {,:_,___ISllver 2. Y feat ATHTES i HIfeT B R
elect the correct answer from the code 13 fou e Fe @ FE IW ST :
£lven below : Np .

|

|

I

|

H

i

i

{

!

Code : e i X -

: b) e 1

(2) Neither 1 nor 2 (b) Only 1 E @F@1IA2

() Only 2 (d) Both 1 and | (c) et 2 (@ 1 3% 2 3
l = = L= LY
! el TR 3 TS T B B %
i
H
|
|
|
I
|
i

113. With reference to Delhi Government’s

i 113. e m
B;_(:—decomposer and Spray Prégfamme’ Fod F FrefeRea § & FA-F /8 T R/R
Wwhich of the following statements i : . . ~
correct ? :-;g:.'sfare 1_qu?ﬂﬂ@mﬁaaaﬁﬁnaa%%‘1%€mm
1. The Bio-decomposer soluticr is T -SrAeT dieT g | IacTe] HET SR |
provided free of cost to farmers to help i % : 3
convert stubble into manure! 0. TT-SehuleT Hiel g e Bl ITEM Fk
2. The Bio-decomposer solutin is Far feran s B
Prepared using a mix of severa] fungi. gfi
Select the correct answer using the code #9 fag T Fe & T IW :
given below : xe:
-y D F@1ad2 (b)) T
(a) Neither 1 nor2 (b) Only 1.7 (@) S =
(c) Only 2 () Both }'dnd 2 (c) e 2 @ 13 22F
o s A & = n
114. Which of the following is /are;"’;;i Financial | 114. Frefafes 8 & S9-a1 9a & Tag 1 5y
Committee of Parliament in India ? afafg /2 7
1. Public Accounts Committee 1. s orat sl

2. Estimate Committee ety
3. Committee on Public Undertakings 4 Heshe
3. WEsteR 3w il
Select the correct answer from the code e
given below : P e feu T g | W I g
Code : iy &e sh N
(a) All1,2and3 (b) Only 1*~ (a) 1,233 (b) et 1
(c) Only 1 and 2  (d) Only 2'and 3 () o 132  (d) Fa= 2 3k 3

{3 .' %
115. Which of the following countries”is/are NOT | 115. fr=fafga #f 4 ®F-m/a 2w wrd gzdm ui

i
{
|
i
|
a member of the Gulf Cooperation Council ? | w1 & 2/8 ¢
1. Bahrain E 1. =t
i' :ran i | 2.
. Iraq "
4. Qatar ::I { 3.
= E] Select the correct answer fron?"‘g;.e code : 4. HR
V% given below : T i T R T ge ¥ v I g
(=14 Code : f.'_.,}‘h'l i e :
£
(a) 3 and 4 (b) Only 1~ § (a) 334 (b) Faa 1
(c) 2 and 3 (d) Only 3 ] () 23R 3 (d) ¥t 3

——— e a———



116. with reference tq N

is/are correct ?
. Th . -y
; EeﬁeﬂNDp Published it¢-first Hum
had a Human peror 31990, which
The first team  obicht Index.

that ‘de

Human Develg .developed the

Pment Inde;

Mah " ex was led b
bub ul-Haq and §. Priesne?. eCY

Select the correct
- ans :
given below : Wer using the code

Code : MY

(a) Neither 1 nor2 () Only}l

(c) Only 2 (d) Both™1 and 2
0

117. Which of the following pairs i
airs:
correctly matched 7 gp {.I,.,iL is/are NOT
1. National Voters 5 s
i Jan
Day (India) e
2. Constitution - 27 Jan
Day (India) _—
3. Human Rights - 29 Janu
Day (World) Py Y
Select the correct answer from the code
given below : £y
Code : €.
(a) Only 3 (b) Only1
(c) 1and 2 (d) 2 and:3
118. Consider the following and é}iicmge them in

the correct chronological order.

1. Atal Mission for Rejuvenation and
Urban Transformation

2. Jawaharlal Nehru National Urban
Renewal Mission s

3. Jal Jeevan Mission

4. National Urban Housing

Select the correct answer

and Habitat Policy
from the code

given below : [ 5
Code : i a)
(a) 4: 2, 1: 3 (b} 4’: 2':}3’ 1
(c) 2,4,1,3 (d) 2,43, 1

119. Which of the following pairs is/are NOT
correctly matched ?

E#ZE  (Pass) (State/Union
E‘ﬁ‘;é Territory)
" 1. Lipulekh - Ladakh
o, Nathula - Sikkim”
3. Bomdila - Aruni';lg':lllal Pradesh
4. Shipki La — Himachal Pradesh

Select the correct answer fI;O;II}I'l the code
given below :
Code :

(a) Only 2, 3 and 4
(c) Only 1 and 2

e . YA gt s o SR

(b) Only-1
(d) Only 1,2 and 3

o T

Index’, Which of ty Humal}.,l_DeveiOpment_]i“uE, p—— -..._'._._eg._

e follouti;j{g statements |

{
|
|
i
|
i
|
!
|
|
i
|
i
|
i
!
|

i
I
i
i
'!
§
|
:
a
¢
!
i
|
|
[
|
|
l
l
[
|
|

+ —— - ]
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o & Preffea &

P/ o T B/E 7

1. g, @ & 6, 3 1990 T I Tzl ama
g fd wemifora <h ot el o R
TIHRE 1 |

2. W forsT g R B A T
?ﬂ:mwﬁqaﬂzas—ﬁ-ﬁﬁtm.m-:.‘

|

:ﬁ%m“‘lﬁﬁﬂﬁmiﬁﬂz

%e :

(@ ad13d 2 (b) FIA1

(c) e 2 (d) 1 3R 2

frafafes # ¥ F=-a1/8 g™ 98 gofaa =&

?/8 7

1. Uy Haegrn fegm (@) - 25 Sad

2. dfyum feam (W) - 27 SHal

3. AraTier fmm (Reg) - 29 9=l

Hr e e e & w I IR

%!

(a) Faa 3

(c) 13K 2

118. Trafufga w freR =t @21 3¢ w8
w0 T e W™ |

=

ol

117,

(b) et 1
(d) 2 3R 3

1. 37 HETHe 3 wgh uitEdw fm
2. SATEETS Yew U weht Tl fiem

3. 9d S fawm
4. TR weh FEw e gateE Hfifd
= e T e & v I g
Fe:
(@) 4,2,1,3 (b) 4,2,3,1
() 2,4,1,3 (d 2,4,3,1
119. ﬁ%ﬁﬁﬁﬁq—m/ﬁm@@%aqﬁ
/2 7
() (T /3 TR SEw)
1. foagera S E
2. Y - fofesn
3. Smfsen - TS e
4. TRraeht =0 - faoee wem
9 g 7T F2 ¥ T W g
%0

[a)"ngﬂFIQ,Baﬂ'{“r (b) e 1
(€ FoA 132 (d) Fa@ 1,2 3R 3

— et i — T —



E:-ﬂ.!g
120. With reference to ‘Ecosystem’, which ;’ the
following statements is/are correct P
o

1. Green plants in terrestri};ig;a ecosystem

capture about 1% of energy of the
sunlight that falls on their.leaves.

2. Around 10% of organic rr;ﬁrffner reaches
to the next higher level of Eonsumers.

Select the correct answer from the code
given below :

Code :
(@) Neither 1 nor 2 (b) Only'1~

(c) Only 2 (d) Botl-nf‘:'-}gand 2
[
121. Which of the following enzymgsjis /are
released in stomach for proteiri'digestion ?
1. Chymotrypsin -
2. Trypsin :
3. Pepsin
Select the correct answer using the code
given below : £
Code : e
(a) Only 3 i%‘-‘f_‘éj
(b) 1,2and 3 {’“ 1
{c) Onlyland 2 =~ ¢ 5
(d) Only 2and 3 &
122. Match List — I with List — IT and choose the

correct answer using the code given below

the lists. A8
E]'& List -1 ltivpf!: -II
E']r% (Iron-ore Mines) (State)
A. Gurumahisani 1. J‘i'x‘.f;t}khand
B. Bailadila 2. Kainataka
C. Noamundi 3. O‘Eiijsha
D. Kudremukh 4. Chhattisgarh
Code :
i.“‘:__.}
A B C D Ch
@ 4 3 1 2 ‘}‘5-;‘
'-_","J
b) 3 4 1 2 o
3
c) 3 4 2 1 ey
3 2 1

+ ——————

————— _,-.-—-~'_q—1f'{'f§_,§%’§qf%;iﬁaﬁfﬁ, frafafaa 83

t 120. “ a‘a’r%ﬁ"
| 3 Lok :
3 ﬁ:;éﬁz,wﬁﬁﬂmﬁfﬁlﬁlﬁﬂﬂﬁm%
o EmETT
i ! T8 I .
II N lo%Eﬁﬁzﬁjﬂﬁmm%ﬁ
ig'-@:ﬂ%ﬁqﬂqzﬁzgaﬁmgﬁqz
e-"'%' -
| [Ed3 w AT 2 (b) = 1
i (a) 1 24
H - . ~
L 121, ﬁﬁqmmﬁ%mm; ?ﬁﬁﬂ%ﬁaan
: aaq_m/ﬁqaﬁnﬁm ;
1. SIFAIEA
2. fefem
3. ufA
) fm e g & wE S AT :
<he:
(a) ad 3
(b) 1,2 3R 3
(c) ae 1 AR 2
(d) HEe 2 IR 3
122, g - 1 = - 11§ gafaa Hife sk g
Y R e e R W el 3 g )
'; el -1 @R -1
} (cliE—3Ta%h @em) (=) '
§ A. TeRfEEr 1. SEvE |
:l B. awrfEen 2. HATH
j' C. Tramue 3. affem
g D. $sq@ 4. ST
L
i A B C D
} @4 3 1 2
i ®3 4 1 o
l ) 3 4 2 1
|
! d 4 3 2 1

—_————
e — — ——
e i
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a member of the

for Multi-Sectoral ,12 igczezfglémtxame
Co-operation (BIMSTEC] 5 O conomic
1. Thailand e
2. Nepal

3. Bhutan
4. Indonesia

{ 1
(3

{3

Select the correct answer from the code

given below :
Code :
(a) Only 4 (b) Only 1
(c) 2and 3 (d) 1and4
124. Which of the following sites w‘é're obtained
by the British East India Company under
the Treaty of Sugauli in 18163
1. Kathmandu
2. Shimla
3. Ranikhet
4. Nainital na
Select the correct answer &o{h_?fihe code
given below : 1::
Code : (et
(a) Only3and4  (b) Only'L’
(c) 1and 2 (@ 2,3 and 4
125. Given below are two statements, one is

labelled as Assertion (A) and the other as
Reason (R). R

¢
Assertion (A) : Poverty line .giffers across
time and countries. L2
Reason (R) : The basic needs of people vary
across regions and overtime. -

oz -

Select the correct answer from the code

given below :

Code :

(a) (A) is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the
correct explanation of (A]

(c) Both (A) and (R) are true,. but (R) is
not the correct explanatlon ‘of (A)

(d) (A)is true, but (R) is false

. — s A
- - {—

-

CI1ZU-1- 23
i __________________________ BT,
l 123, ﬁq%ﬁgﬁrmaﬁ'—r—m/ﬁ%ﬂ m;ﬁ@-ﬁﬁ
i T~ e ai ol FEAM T
| 1%’""*“%?") Fuger @ R 7
! 1. urfds
j 2. U
| 3. 'Fm
; 4. frm
} I fow o e @ @ I I
l R
| (a) ot 4 (b) e 1
E (c) 23 3 d 134
a
| 124. Frerfen 3 & F-eh o 1816 ) gAe
}ﬂ[Eﬁig?wvﬁ@mées%mﬂﬁﬂmﬂmﬁﬁﬁ
Ofs ?
1. Fr3ATg
2. fmen
3. THi@Ea
4, ¥rar
A fog Mo gz @ v IWCIAC
Fe:
(a) o 3 3R 4 (b) e 1
(€ 132 (d) 2, 334
125 32 wom R e E, Rrd & w6 I A (A)
ame@im“rm(R)ww%I

a:ﬁmm:ﬁshm%@waﬂt%:rﬁ%

sed e a2
m(m:ﬁrﬁzﬁwmaﬁiaﬂt
i % EEn e A R

EEE ﬂ%ﬁqﬂq%ﬁaﬁm‘ﬁq

XLy %

| E=If

(8) (A) T 2, frg (R) & 8

(b) (A) 3R (R) & & & 3 (R), (&) F TR
SHTEAT ST B

© (A) 3R (R) 3 T &, fF (R), (4) T
T T T _

(d) (A)TAR, ﬁﬁumw%
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126.

127.

128.

O]
=]

%{%“E

o ——— T o S — T f— it i

Consider the tenure of the fo i
Presidents of India and a.rranug??}?cgm in
Correct chronological order. Starting from
earliest to the last. ¢ ;ﬁ

1. Neelam Sanjiva Reddy -,
2. K.R. Narayanan £
3. A.P.J. Abdul Kalam
4. R. Venkataraman P

Select the correct answer from the code
given below :

I* %
1a %

L

Code :
(@) 4,1, 3,2 (b) 1,4,3,2
(€) 1,4,2,3 d) 4,1,2,3

F=,
With reference to ‘Uttar Prlr_':_a.a?esh‘, which of
the following statements is/are correct ?

1. Uttar Pradesh is the leading producer
of potato in the country:

2. Government of India h:a;'ls?:approved for
establishment of South Asia Regional
Centre of International Potato Centre
at Aligarh.

Select the correct answer g_rq_m the code

given below : R
Code : ff’“
(@) Neither 1 nor 2 Co
(b) Only 1 £
(c) Only 2 =k
(d) Both 1 and 2 e

Match List - I with List — II and choose the
correct answer using the code given below
the lists.

List — I List~ II
(Schedule) (Subject)
A. 7P Schedule 1. Languages
B. 8% Schedule 2. Disqualification
on-ground of
défection

C. 9th Schedule 3. Union, State and

Concurrent lists

D. 10th Schedule 4. Validation of
celrtsﬁ.ln Acts/
Regulations
Code : (L)
A B C D s
@3 1 4 2 Lj:
b)y4 2 1 3 e
)3 1 2 4 o
d2 3 4 1

|
!
i
|
!
|
{
|
|
!
)

126.

127.

128.

e it S

e 3 Frefertig e 3 FR
0 ¥ saafeud i |
L-.ﬁa’q?iﬁﬁm@

2 ) 1,4,3,2
3 d 4,1,2,3

e s % g § Frefafed 4 & $R-m/y
e /T 7

1. I W, 3 U T F M IEH R |
0. A THR A TG H A 31 3

¥ <for afirn &N g B T ) ih
fR
# fow e g2 & wE I IA ;
e :
(@AM 1A 2
(b) et 1
(c) Faet 2
(d) 13 23
T - 1 9 g - 11 & gafaa Hifag ok g
¥ i fon My g w1 WM F A IW AT |
i - 1 -0 Eg
(agesh) (Forer) %‘%ﬁ
A. 7 o I 1. W '
B. 8 = 3rge= 2. ToTEeH % ATEN W
31T
C. o & Iy 3. T, T 3R
et gaat
D. 10 =ff s 4. Fo fufwm i
Tafmt =1 gcm
E T
A B C D
@3 1 4 2
b)4 2 1 3
©3 1 2 4
@2 3
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130.

181,
EZE
%’%

)
& Assertion (A) : Generally aﬁéﬂloy of lead and

et e o e o =

Given below are two statements, one is
jabelled as Assertion (A) and the other as
Reason (R). )
tin is used as a material of the fuse wire.
Reason (R) : Alloy of lead and tin has
a higher melting point thélLil copper an

aluminium. s
select the correct answer from the code |
given below :

Code :

PJ
(a) (A)is false, but (R) is triie
(0

(b) Both (4) and (R) are trugand (R) is the
correct explanation of (A)

(c) Both () and (R) are traé! but (R) is
not the correct explanation of (A)

(@ (A) is true, but (R) is false

Which of the following pairs is Jare NOT

correctly matched ? i.fr--:‘_
~/* (Date)

(Day) e
1. Internation ~ 16 September
™
Ozone Day e
2. World Environment - /45 June
Day &
22 March

3. World Wildlife Day -

Select the correct answer from the code

given below :

Code:

(a) Only 3 (b) Only 1
(c) 1and 3 (d) 2{a§1d3

Which of the following pairs:is/are NOT

(b) Only 1 and 2
, 3and 4

(a) Only 3 and 4
(c) Only 1,2 and 3 (d) Only 2

correctly matched ? )
(City) (River) |
1. Budapest —  Danube i
2. Cologne -~ Rhine ;
3. New Orleans - Missouri ]
4, Hyderabad E,” :
(India) - Paleru !
Select the correct answer from the code :
given below : £ l
Code : CJ =
|
l
|
l

@39 @

129.

F)

130.

131.

=% ]

"ﬁ%ammﬂqij’:ﬁ“‘ﬁ
Ao z@ A F (R) FE
W(A]:W:Wf%?jﬁm
ﬁammwﬂ?ﬁaﬂeﬁ )
EinES Jp— .
% (R) : dven @ fA B 2 ;
ﬁaa” %nﬁaﬁ@ﬂrﬁ@mg'

413 o o e @ @@ I I

(a) (A)7era B, BF (R]a‘s‘l%

(b) (A) 3 (R) o1 7@ & 3 (R),
e FT 2

(c) (A)aﬁz(maq‘iaé%‘,ﬁﬂ(m, (A
e 7 U @

(d) (A) @ 2, v (R)na'a%

(A) T

kil

ﬁqﬁfeagﬁiﬁa?ﬁ-m/aaagﬁ%mﬁ%/% ?
(rrer) ()
1. ey we fEm - 16 =i
2. fa wafew @ - 5%@
3. fyg g fegd _ 22T
ﬁﬁqm@ﬁa@mgﬁm
-
(a) Sheel 3 (b) a1
(c) 133 (d) 2 33
Frffga o @ Fr-T1/& g0 TR gAfed T&
2/8 7
(" w) )
1. gENR - =@
2. HIEH ~ T
3. = ARl - fEd
4. ¥R (@) - T
A R T e @ W@ IR ;
T
(a) Fad 334 (b) Faer 132

(c) ¥a@ 1,23 3 (d) a1 2, 3 3T 4



132. Which of the following is/are NOT a

l 132
dimension of food security ? :
1. Availability | % i
2. Accessibility =
3. Affordability ’J:“ 1
4. Accountability .-"A-: :
Select the correct answer from the code
given below : == !
Code : :
(a) Only 4 (b) Only 1 i
(c) 1 and?2 (@) 2,3 and 4 !
1 i
133. Four Buddhist Councils were helélI atthe | 133.
o following places. Arrange them in correct :
Jh:% chronological order and select the'correct |
El{3¥ answer from the code given below,
1. Vaishali -~
2. Rajagriha
3. Kundalvana
4. Pataliputra i u
Code : “1
@ 2,1,3,4 (b) 1,2, 3,47
(€ 1,2,4,3 @ 2, 1,4,3"
134. Given below are two statements,_,_-f,ne is 134.

labelled as Assertion (A) and the other as
Reason (R).
Assertion (A) : The Himalayas form
source of several large perenmall fivers.
Reason (R) : The higher ranges Lc;f : i
Himalayas are snow covered throughout
the year. " 'J,:
op: Select the correct answer from the code
202 given below :
Code : - :
(a) (A)is false, but (R) is true ¢ 5
(b) Both (A) and (R) are true anqt(_R) is the
correct explanation of (A) 1“{
(c) Both (A) and (R) are true, but(R) is
not the correct explanation of-(A)

e
O}

(d) (A) is true, but (R) is false ' [ —i

@40@

e e s

CIZU-].-—-23
ot B B S
& e/3?

1. JocreHar

2. &

3. gmeA

4. FaECE!

3 fe e Fe ¥ TH IR

L

(a) ¥ 4 (b) Fa 1
(@ 13M2 (d) 2,334

'—ﬁ%ﬁEW@ﬂWWQﬁEI

1. aumeft

2. UG

3. PpvScad

4, urefaga

F:

(@ 2,1,3,4 b) 1,2, 3,4
(¢) 1,2,4,3 d 2,1,4,3

9 3 = T e €, e @ o W SR ()
T G T HRT (R) FE S |

afirreF (A) : famre 3 9! Sagante
AR w1 I W R |

R (R) : o f = vt wa

Tereeifea wdt € 1

e fog e e & Wt I g

e :

(2) (A) Tom 2, Reg (R) T 2

(b) (A) 3T (R) G = € 3kt (R), (A) B TE
SATEET T 8

(©) (A) 3R (R) 3 vt &, Feg (R), (A)
T =HTEn T e @

(d) (A)Eﬁ%,ﬁa—-g (R) Trerd B

—

I e e — g e e et
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'1;5, Given below are

labelled as Asse
o
ol

two statements i
v , one is
Reason (R). rtion (A) and the P’El_?er as
Assgftlon (A) : India’s success isr'ré;iticaj
for the global success of Sustainable
Development Goals. i)
Reason (R) : India accoun I
) ts fi :
gn{a-s:ct';l: of the total world pc?pll-tlrllg%:blg
elec € correct an: .
ven below : swer from the code
Code :
(a) (A) is false, but (R) is true
(b) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(c) Both (A) and (R) are true, butf(R) is
not the correct explanation of.(A)
(d) (A)is true, but (R) is false )
U
Pushkar Kumbh Mela 2025 was held in
May 2025 in which of the followingState(s) ?

136.

w

1. Rajasthan o

9. Uttar Pradesh

3. Uttarakhand

Select the correct answer from the code
given below : [
Code : [“(;:J'p

(a) Only 3 (b) Only 1 (=
(c) 1and2 (d) 2and 3 ¢,

With reference to Panchayati Raj h{éfijmﬁons
in India which of the following statements

is/are correct ?
1. Tenure of Panchayati Raj Institutions

shall be of 5 years.

In Panchayati Raj Institutions, out of
the seats reserved, 1/4 of the seats shall
be reserved for women belonging:1o
Scheduled Caste and Scheduled-Tribe.
Select the correct answer from the,code
given below :

Code :

(a) Neither 1 nor 2
(c) Only 2

Which among the following is/are NOT a
social indicator of poverty ?

1. Illiteracy

2. Safe drinking water
3. Job opportunities
4. Size of the house N
Select the correct answer from thte"}l;ode
given below : v l,

137.
2.

A

3
) Only 1 (™
(d) Both 1 and ™2
138.
|'t._':|
by
)

()

EEE

Code :
(a) Only 4 (b) Only 1 |
() 1and 2 (d) 3and4

e
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(a) (A) e R, fF (R) T 2

(b) (a) 3i (R) Q1 FE
HTE FHl

(©) (A) 3t (R) & @@ &, F°3 (R), ()
e TE Bl 8

(d) (A)aﬁ%,ﬁﬁﬁ{rz)naa%

136. %2025ﬁ3m§;nﬁw2025waﬁmﬁn%ﬁ§a

3} fory T/l # foam T AT ?

1. TSEH

2. I W
3. IWES

A fog o g @ W@ I IR

C T
(@) 5 3 (b) e 1
(¢ 13R2 (d) 233

137. wﬁdameﬁmé@naﬁ%séﬁﬁﬁmﬁﬁaﬁ
F3em-m/A T TR R/E 7
1. mwmmmﬁmsa&wml

0. TaTEd US wenai § ST e "

[=l7%[E]

1/4%33@331%@313@33&1%
£ wfenail & o amfia g |

£ oo Mg Fe ¥ T IW AT :

w2

(@ AR 1TR2  (b) Fa L

(c) e 2 (d) 1 3T 2 Qi

138. fyfafaa 3§ ¥ S Feka =1 amfas Yo

e

1. Fraarn

2. g T

3. TSR % 78T

4. U ATHR

EE@:

(a) A 4 (b) el 1

(c) 132 (d) 334
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140.

EiE Select the correct answer from the code
xat given below :

141.

2

Which of the following is/are NOT a cold
ocean current ? [
1. Agulhas current

i
!I'.r ]
Ce
)

|

|

j

i

2. Brazil current :
3. Humboldt current g ’
4. California current £ :
Select the correct answer from the code :
]

1

|

|

|

t

!

y A,

given below :

Code :
(a) 3 and 4 (b) 1 and2
() 1and3 (d) 2 and 3

£
Which of the following padifs is/are NOT
correctly matched ?
(Acid)

= .
foad

(Acld found in)

1. Lactic acid - Culr'd :
2. Tartaric acid - Grapes
3. Acetic acid — Potato

)

Code : ¢ T

(a) Only 3 (b) Only:1

(c) 1 and?2 (d) 2 and 3
e

Given below are two state:;(n‘g]pts one is
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : The territories of the
Sultanate could be broadly divided into two
parts — the Khalsa and the  Jagirs.
Reason (R) : The Jagirs COT_AI’rXIIiJI'iSCd of the
land under the control of th:e State.

Select the correct answer fx?om the code
given below : -

Code :

(a) (A) is false, but (R) is t]:'].lf

71
(b) Both (A) and (R) are true-and (R) is the

correct explanation of (A)
Tt

(c) Both (A) and (R) are trize, but (R) is
not the correct explanation of (A)

(d) (A) is true, but (R) is false

e e S e SR |

140.

141.

@ 42 @

2/8 7
1. e
2. FEE 9T
3. gHEee Uil
4. HfABIHAT g
ﬁﬁqmq{gﬁ'ﬂ@mﬁm
E’gaﬂm (b) 132
(c) 133 (d) 2 3R 3
frerffea 3 & FA-w1/2 TW @ AT
2/8 7
(37) (3T U AT )
1. Afdee 37T = 3_@
2. i I = R
3. ufafes 3T = STy
3 fq e g2 ¥ WA IW IAT :
He:
(a) Fae 3 (b) e 1
(c) 13Mm2 (d) 23R 3
2 e R e &, Rl © b i ()

AT gER ! HROT (R) HE TR |

FereE (A) : Toaad b 831 ! O d W al
it # fenfoa e s weean R - @ ik
IR |

HRUT(R) : 00§ Te9 & foeor § S aed

yfty nfier oft |
A fog Mg e A T I P 5
- mrE

(a) (A) Tea R, A (R) dt R

(b) (A) 3R (R) <Hl &l & 3R (R), (A) 1 &
SATEAT T 3

() (A) 3R (R) 3! =&l B, fFg (R), (A) 1 &
e T W 2

(d) (A) 5t 2, g (R) o
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143.

[E]#E[E] should take place without damaging the

-r

[a]

——— .
T s e .

Reason (R).

Assertion (4) .
important for ecq
functions in g M

. L
Directive Pririciples are
nomic, social and' political
odern Democrai‘tilé] State.
Re-asc-m (R) The core objectives gﬁi)irective
pnx?c1ples Is to establish economic and
social democracy.

Select the correct answer from

. the code
given below : fime

-

'L_:' A
Code : 48,
(@) (A) is false, but (R) is true :**:

(b) Both (A) and (R) are true and:(R) is the
correct explanation of (A) -

(c) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(d) (A)is true, but (R) is false

F i
Caad

—
o F
e L

Given below are two statemer"‘gis, one is
labelled as Assertion (A) and the’ other as
Reason (R). Ll

€1
Assertion (A) : Sustainable development

environment and development in the
present time should not compromise with
the needs of the future generations.

(]
Reason (R) : Agenda 21 was signgg.ﬁby world
leaders in 1995. ::i
Select the correct answer frorg'ijt;he code

given below : -

Code :

(a) (A) is false, but (R) is true o

45 ;.
(b) Both (A) and (R) are true and’(R) is the
‘IIJ‘_-J
N
'y i
(c) Both (A) and (R) are true, bL}EER) is
not the correct explanation of (A)

correct explanation of (A)

(d) (A) is true, but (R) is false

ot S S
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fergia wgerg € 1

WA (R) : 3R 3t @mra sihad i

R e & P fgidl o 09 37 2 |

He:

(a) (A) TeTa 2, Fg (R) T 2

(b) (A) 3K (R) 2Fi 7 & 3R (R), (4) H TR
STEAT T B

©) (A) 3 (R) i =@ &, fF (R), (A) B T
=T & T 3

(d) (A) 5 R, Feg (R) TeTd B

# 3 wya feg e &, R @ w & AAfwA (A)

T AR FA (R) FG T |

a&amﬂ(ﬂ_:mﬁﬂawmaﬁw

e e g ey i T 3 e

wirsa ) difed 6 sl & T g &

HET A |

U (R) : e 21 W faga Janadi grr 1995 3

geaien forg e 2 |

[ EﬁﬁQWﬂﬁa@mgﬁQ:

e
() (A) e 2, fFg (R) ¥ 2

(b) (A) 3 (R) <1 & & 3R (R), (A) 1 &
STE T 2

() (A) 3 (R) i v €, fFFg (R), (A) I T&
ST el HT B

(d) (A) & R, FFg (R) TTera 2
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144 Match List - I with List - Il and select the | 4% 23 pr o 55 1 ST Tl ot gy,
fgrrﬁct answer using the code given below I -1 Tq=h -1 '
- € lists : {3
E o List - I List <1 (Forer) (g fafy)
@R‘& (Mission) (Date of Launch) A, TSI - 3 1. 02 forem 2023
A. Chandrayaan -3 1. 02 Septémber | arifeed L1 2. 17 %@l 20y,
' 2023 = > 3DS 3. 14 9
B. Aditya L1 2. 17 Febrliary C. INSAT - . : 2003
2024 | @#E . RLV-LEX-01 4. 02 3 205,
C. INSAT - 3DS 3. 14 July 2023 v?ﬁ .
D. RLV-LEX-01 4. 02 April 2023 | EIF# %2 c D
Code : B A B
A B C D 8y (a) 3 1 2 4
@3 1 2 4 e 1 3 2 ¢
)1 3 2 4 e @1 3 4 2
01 3 4 2 i “ 1 4 2
d3 1 4 2 & i (d) s o
145. With reference to the Indian Ocean’, which | 1 45. fo q U a8 e/8 ?
of the following statements is/are correct ? -1/ : :
1. It was called by the Ancient Greeks as 1. 3'@ <A ZE!TEF!?I A m T W o |
Erythraean Sea. P 0. 98 YHHA &1 F gHl aF Shel @™
2. Itis spread on the either side of-equator. A TP
Select the correct answer from the.code #ra few T %2 ? W W ’
given below : @ o3 He:
?l))dlg ither 1 nor 2 (b) Only 1 G (a) ;;' A aﬁ;ﬁ
a, eitner nor y o ‘i;{ d) 1 =
(c) Only 2 (d) Both 1 and 2 (c) 2 @ 23
146. Consider the following sources of world water | 146. fo¥a 31 amqfd % freferiea widt o fomm 4
supply and arrange them in descending TUT §% UG HH H A Hii |
ord%-. 1. "R
1. Oceans =
2. Rivers I .
3. Polar ice and Glaciers e E_I [=] 3. yda oF 3R g
4. Ground water 1:.‘—'1} (OfE 4. T‘rﬁ o /W
Select the correct answer from the code '
given below : o :ﬁ%ﬁm M FE W HE IW A ¢
Code : ot ®e: .
(a 1,2,4,3 (b) 1, 4, 3,2~ (@ 1,2,4,3 (b) 1,4,3,2
(c) 1,3,4,2 d) 1,2,3,4 ) 1,3,4,2 (@ 1,2,3,4
147. Which of the following pair is/are NOT 147. Trafafes § @ sF-a1/4 3@ 9@ gafaa 7@
correctly matched ? P 2/ 7
(Dam)} (Fiver) i (aifer) ()
1. Baglihar Dam - enabi’) 1 - _
2. Pandoh Dam - Ravi 1, 5 qa_si-"lg'wgt,( o ﬁi T
3. Srisailam Dam - Tungabhadra 3' S - h
Select the correct answer from the/code . Hltem =iy - g
given below : = :ﬁ%ﬁqwaﬂﬁﬁﬁmw:
Code : +:
(a) Only 3 (b) Only 1 (a) ¥aet 3 (b) ¥ae 1
(c) 1and 2 (d) 2and 3 (c) 132 (d) 233 ~

P ———————— R e e

@ 44 @

ettt .t et - " s
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150.

e - -ttt h
e - —a

Given below are twgq h
staternents onei
s labelled
as Assertion (A) and the other as Reason (R).

rti
Assertion (A) : India i the second largest

mobﬂe gaming market in Lhe world

Reason (R) : There are more f_ha.n 950 million
internet users in India. a’ "
Select the correct answer fr;'rn the code
given below :

Code :

(a) (A)is false, but (R) is true

(b) Both (A) and (R) are true .and (R) is the
correct explanation of (A]

(c) Both (A) and (R) are tme but (R) is
not the correct expla.natlon of (A)

(d) (A)is true, but (R) is false

]
|
|
z
|
|
i
|
i
|
i
|
]
|
i
|
i
|
|
i
i

T s e B s — - — i i S . i

| 148. #= & e fow €,

CIZU-1-23

. — e S T

mzﬁaﬁm(n}mﬂm%l

sifireReF (A) : Wﬁ'ﬂm@'ﬂmwﬁaﬁﬁ

Aim TR R |

A (R) : WA ° 950 frfeTam & e FECHR

¥ Iyl 2 |

) g e e @ W IR I

e

(a) (A) e B, frg (R) T8 &

(b) (A) 3 (R) 21 @@ & 3 (R), () H T
ST Tl

() (A) 3R (R) 2t & &, FF (R, (A) i &
STE TE w2

(d) (A) @ 2, feg (R) 7o 2

Who among the following had won the 149. Frefafea 4 @ fead 2025 # aterisdia gep TR
International Booker Prize.in 2025 ? farg 2
1. Banu Mushtaq ‘"‘ Sja :
2. Deepa Bhasthi £ : g
— 2 2. gar weft
3. Sanjay Chauhan ?J :
Select the correct answer ;irf;m the code 3, HSE =g
given below : - ;ﬁ%ﬁQﬂQ{Eﬁ‘aﬁaﬁ'{ﬁﬁQ
Code : He:
(a) Only 3 (a) a3
(b) Only 1 (b) %hadl 1
(c) 1and?2 i (c) 132
(d) 2 and 3 S 1 (d) 23R 3
gl i
With reference to ‘V1ce-Pres(dent of India’, | 150. e ¥ F9-Tgaty’ % w=l # fefefea ® &
which of the following statements is/are | F-T1/Q T T 2/3 7
? il H
CFIIT;S; Vice-President is {fé ex-officio } 1. I9-UaRy, TS 81 6 o gafd 24 2 |
Chairman of the Rajya S}?bhaf " : 0. Sq-Trafy T T N Xl
2. Vice-President is a mem er of the
Rajya Sabha. » :Elg__li]ﬁﬁqm%ﬁ%ﬁmgﬁq:
Select the correct answer frgm the code : Erng
given below : o | 5
Code : f ; (@) A 1TE 2
(a) Neither 1 nor 2 {; il (b) ¥ 1
(b) Only 1 £ ; (© 1 3t 2 21
(c) Both 1 and 2 ,l 5l S
(d) Only 2 , :




